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Topic:- Grad_Nutrition and Health

1) Following methods are used to Assess the dietary intake of individual:/

Ifdd & MR AU &1 e HI1 & fow 370 | fpa fafyr 1 Iugi forar wirar &:
1. 24 hours dietary recall/ 24 °¢ &1 3ER {fd
2. Weightment of raw foods/ F= W Ul &1 UR JAIT

3. Food frequency questionnaire/ W€l dREWRAI PEIGK]
4. All of the above/3uad Tt

Correct Answer :-

« All of the above/EﬂPjGﬂ gt

2) AIDSis______ disease:/TgdUTH __ T
1. Endemic/ ®IA%

2. Epidemic/ ugnm

3. Pandemic/ﬂﬂ_oqﬁ

4. Sporadic/f&e-ge

Correct Answer :-

« Pandemic/IdoaTdt

3) When iron deficient adolescent girl become pregnant they have a higher

chances of:/ 919 3R #! HHI § RNfga fewd niad gt g &t B TRHTGAT
3fie A<t B



1. Preterm delivery/ 999 ¥ Ugd W94
2. High birth weight babies/ 59 & ¥8Y 3{fdd YR ard RIFSH & o4

3. Twins pregnancy/ Jedi fRigreft
4. None of the above/dhlfidrl ¥ I a8l

Correct Answer :-

« Preterm delivery/ ¥H99 ¥ Ugd U9

4) Iodine deficiency before and during pregnancy can lead to in
infants:/ THTaRT | TeA Td IS IR SMIEH Y T 81 | Tawra R &
g TPl &:

1. Cretinism/ Sl (aTH-d)
2. Anaemia/ JadTeddT (THITER)
3. Infection/ T Ul

4. Oedema/ TSI (AR ThH BF F Id JoiA)

Correct Answer :-

« Cretinism/ sheldT (ATHdT)

5) Food utilisation depends on:/ JTE IUART R R #ear g
1. Bioavailability/ SIg IUd=T

2. Safe and potable water/ IRf&d Td U4 g S

3. Hygiene and sanitation/&wsdl T4 Uiy FAarg

4. All of the above/3udad I+

Correct Answer :-

« All of the above/3udad I+

6) CANCELLED

As per 2015 Global Hunger Index report India is ranked amongst the
leading countries with serious hunger situation:/ 2015 3f¥{® Y& Ja®ie Rud
F uR, ™R Y fRAfT arad erroft 3= & yRa &1 IR 8

1. 40th/40 ai
2. 15th/15 g

3. 10th/ 10 af



4. 20th/ 20 af

Correct Answer :-

. 20t/ 204

7) The causative agent of typhoid is:/ CIg®hIgs 3dA P ardT Si1g 8:
1. Salmonella typhi/ AT CTah!

2. Botulism/ Sigfeed

3. Algae/ QaTd

4. Fungi/ & d&

Correct Answer :-

« Salmonella typhi/ AT CTah!

8) In a child suffering from marasmus which of the following clinical

manifestation is not observed?/ AT | tﬂﬁ%‘d CK| ET-F?[ q BIF-91 arefores
Tdhe fe@rs 18! ¢ar &2

1. Watery diarrhoea with acid stools/ 31 A & I1Y U O &

2. Subnormal temperature/ JrET Y HH dIHH

3. Visible peristalsis from thin abdominal wall/ 3 ! Tdel GlAR ¥ HHGAT QTS TSl
4. Generalised oedema/?l'l’HT?ﬂév_d o)

Correct Answer :-

« Generalised oedema/ﬂ'ﬂ'ﬁﬂ% QS‘IEI

9) Which of the following factors affect foetal growth during pregnancy?/

mufaRT & R M Ry #1 3fS #3780 A FH-91 FRS qUTRIT HRaT 82
1. Nutritional status/ ST fRyfd
2. Hygiene and sanitation/ wdl Td Uiy fAerg

3. Genetics/ 3TdRIb1
4. All of the above/ Iudad it

Correct Answer :-

« All of the above/ I0ad i



10) Which of these following pair of disease caused by virus:/ 375 o PI-T1

IT-gw fawrope} gRT gt 82

1. Rabies and Mumps/ &Sl T8 & Ofa=IY/TTaRg ST (FI)
2. Typhoid and Tetanus/ TIRHISS 3R ¢e1Y

3. Cholera and tuberculosis/ &Sl @TW‘@W

4. None of above/'o”q?ja?r e ﬁ'sc EE

Correct Answer :-

. Rabies and Mumps/ Y&IS1 Td SHUMARNY/ TGS (HH)

11) Anthropometry measurements such are height, weight, skinfold

thickness are valuable indicators of:/ q&rﬁr =i HTYH, o E'I%IT{, 4R, gé’r oadl
3t HieTs 3fe, & Hedyul Hdha® 3

1. Pellagra/ D)

2. Biotin deficiency/ STAIfeT &1 HH!
3. Nutritional status/ gior fRufd

4. Dermatitis/AT=NY

Correct Answer :-

« Nutritional status/ o fRufd

12) The toxin present in kesari dal leads to diseases called
Lathyrism:/ QIR ard # IufRG AP Siafey saraEs (FAHT0ET) TS
I T BT 8-

1. Beta gamma amino acid/‘qﬁET T ST 3
2. Beta oxaly amino alanine/ ST 3iigodll SHAT Ta—
3. Beta hydroxyl proline/ dlcT gRISIaRId Uiei

4. Beta alpha amino acid/EﬂET 3BT HAY 3

Correct Answer :-

« Beta oxaly amino alanine/ steT Siiaorar e Qﬂﬁ?

13) A macro nutrient whose primary function is tissue growth and

maintenance:/ T §8¢ NIU® dd RI$T &1 o1 SHad gfs Ud 3@RErd §:
1. Fats/ 94T

2. Carbohydrates/ & Gﬂélﬁga



3. Proteins/ e
4. None of these/ 378 9 &S Al

Correct Answer :-

« Proteins/ Ui

14) Inadequate pituitary function and elevated plasma growth hormone is

associated with: /fgy 3 & srfermar sraafw g1 iR wirear # i erai &1 wR
QT | 3fU® giHn & ATy TR 8:

1. PEM
2. BMR
3. SDA

4. TEE

Correct Answer :-

« PEM

15) Mumps is an infection of:/ HUIARNY/TERISMT (HHH) BT THHYT B
1. Parotid gland/®0fgd (WRIfes) af

2. Submandibular gland/ 3aRgH A (TeHSIR) TR

3. Sublingual gland/ 3{HISTET (FafeRTsre) afr

4. Submaxiallary gIand/M%ﬁGm-l (Wﬁﬁﬁf@ﬂ) Ry

Correct Answer :-

. Parotid gland/®Uiqd (RIfes) ufy

16) The physiological fuel factor: one gram of fat yields:/ IRIY foharer® se=
PRE: TH UTH 0T o e gl &

1. 8 kcal/8 fhaaraR!
2. 9 kcal/9 fHaimant
3. 7 kcal/7 fraidmant
4. 6 kcal/6 fHaiman!

Correct Answer :-

« 9 kcal/9 fraipart



17) A child has presented with growth retardation, inability to walk and
bruises all over the body. Which of the following nutrients should be
recommended as a supplement to be diet?/ & 9= 9t gf Afed 8, a8 9a 78}
THAT § 3R SUP R IR W 9 1S g T1 MR IRS & ©U A 3949 A {59 ove a@
31 gara fear s arfee?

1. Milk/ g4
2. Egg yolk/ 38 & oidf
3. Pulses/ qld

4. Citrus fruits/fRicq URaR & wa (Hawlt, IR, g 3fe)

Correct Answer :-

. Citrus fruits/Ricq TRaR & wa (Hw, IR, g 3fe)

18) The goal of treatment of tuberculosis is to:/ SERFAINTT & IUAR BT AT e

1. Ensure high cure rate/ 3= m E‘Rﬁﬁ@ﬁ HAT

2. Minimise relapse/ gd%lqi?l GAdH HRAl

3. Prevent emergence of drug resistance/ 3iSf¥ ufeRiy o IAfy AT
4. All of the above/ B“Cl?ifﬁ gt

Correct Answer :-

« All of the above/ B“q?ifﬁ gt

19) Balwadi Nutrition Program is a health care and education program
launched by Government of India in 1970 which provides food supplement:/
IIAATS! WYY FTIHH HRG IRBR gRT T4 1970 H ARTY fHa1 TT T WA T@UTA Td
fRreor wrfepw @ Y BT AU WIS W T 8:

1. 300 kcal/ 300 foHaimat
2. 500 kcal/ 500 faipant
3. 288 kcal/ 288 fHalmaRt
4. 400 kcal/ 400 fFaimaRt

Correct Answer :-

« 300 kcal/ 300 fFaibart

20) Pre conception and prenatal diagnostic techniques act focus on:/ femzor-

vd U9 U9-Ud AT (STeuifes) ae-ie sifuftawm W Hf=d &
1. Preventing female foeticide abortion/ HTal Yur Mg BT AHU™



2. Preventing sex detection before birth/ S J usa ol uga= &t A UTH
3. Comprehension and appropriate counseling to couple/ <ufd &l e T SUYdd Rt
4. All of above/?q?iaﬁ gt

Correct Answer :-

« All of above/3Iudad I+

21) For a healthy well-nourished adults energy requirements is equivalent

to:/ WX JUIT TUTP B oIl maRaHdl & gUdd Bl B
1. Total energy expenditure/ ﬁ&_vﬁm

2. Partial energy expenditure/ 3fif¥® ol g

3. Incomplete energy expenditure/&r{ﬁﬁﬁm

4. None of these/ 370 ¥ B3 g1

Correct Answer :-

« Total energy expenditure/ $d Sl g

22) Goitrogens are the chemical substance interferes with ___ utilization

from thyroid gland:/ Tgcio 3 YTaf® ugrd & o o (YrRTeS) AR A
& SUUNT § gAY Fd B

1. Vitamin B1/ faeifi= B1
2. Vitamin B3/ fdeTia B3
3. Iodine/ SIS

4. Vitamin B6/fac1fi B6

Correct Answer :-

. Iodine/ 3MASH

23) Classification for grades of malnutrition based on Mid upper arm
circumference values considered severely malnourished:/ 9 SWI gig Bt

i & SMYUR R HUITor &1 Afor o arffewor & foe 74 3 foog a9 & ik o 3
PUIa 3t Jolt & @1 Srem?

1. More than 15.5 cm/ 15.5 9 T 3ifd/es
2. More than 13.5cm/ 13.5 9 ¥ 3ifd&

3. Less than 12.5cm/12.5 9HI ¥ &H

4. None of the above/dugl:drl T ¥ HIg ol



Correct Answer :-

e Less than 12.5cm/12.5 I T HH

24) Which of the following is a problem not experienced during pregnancy?/

mufarr ® 379 | g guwn &1 sgya T8l gaT 82
1. Nausea/3sbTs

2. Oedema/ TSHAT (RA UhH 511 A I Yo)

3. Vomiting/BT*iﬁ'ClT

4. Tooth decay/aldl § T

Correct Answer :-

. Tooth decay/aldal § T

25) Vitamin A or retinol (preformed vitamin A) is found only in foods of:/

faerfiq A ar ¥eata (=i faefmA) Faa_ visa verdf o uman &iran &:
1. Plant origin/ UTGU 4d &

2. Animal origin/ﬁﬂjf$

3. Fungi/ ®d®

4. None of these/sqﬁ I ﬁ'sc Tgl

Correct Answer :-

« Animal origin/GﬁH’ﬁ%

26) For a healthy outcome of pregnancy, expectant mothers should be given

supplementation of:/ THfgRI & W= oA & ﬁﬂ'{, gt ATarey DI
g feam s arfye:

1. Iron and folic acid/ 3RRA Td HIfdd 3
2. Vitamin A/ faeTf®= A
3. Vitamin D/ fger= D
4. Vitamin K/ faeTfiq K

Correct Answer :-

« Iron and folic acid/ 3R T4 Bifcid 3



It is defined as weight in kilograms divided by the square of height in
meters, it is also termed the Quetelet's index:/ 39 fFamd # 4R &I diex A
waTs ¥ aif A T 73% ure 339 §, 32 Fede gueie ff waa &

1. BMI
2. BMR
3. RDA
4. DRI

Correct Answer :-

« BMI

28) Which of the following group is more vulnerable to fractures and calcium

geficiency?/ 30 A BIH-GT g R R Hferraw ot vt & ufa eiftre sRRféa
?

1. Adults/ dUIHh
2. Adolescents/ fhRIR

3. Elderly/ S
4. None of these/ sﬂﬁ | aﬂ's‘ T8l

Correct Answer :-

. Elderly/ g7

29) Excessive intake of Macronutrients and sedentary lifestyle leads to:/ dg¢

9IY® a@l & AAius g ok fAfepa siaaielt & HRor & gt g
1. Good health/ 3731 WA

2. Prosperity/ JWAdl

3. Obesity / HIeTdl

4. Healthy lifestyle /3a® Siia- Qi

Correct Answer :-

» Obesity / e

30) Clinically Vitamin B12 deficiency leads to a condition called as:/ & d
=P 4, faerfiq B12 &t &t & Rl e fRUfd I gidt 2

1. Iron deficiency anemia/ 3MRA SRR wiftrr (de —grar Jgareddn)
2. Pernicious anemia/ TR Tt




3. Bad breath/ 919 ¥ g7
4. Tooth decay/ aidl H TeT

Correct Answer :-

« Pernicious anemia/ G-I THITHAT

31) It is recommended that during the first six months after delivery the

infant should be exclusively:/ T8 3T $I STel 8 P 7T & 91¢ & IR B
EHEIRECEIGRR NG ) 1LY

1. Bottle-fed/ Siad ¥ g4/3MER U
2. Weaned/ ¢q¥ g Sidl

3. Breast-fed/ ¥dUT AN

4. Formula-fed/ & &I QY/ 38R fUamn

Correct Answer :-

« Breast-fed/ XUl HdMI

32) The five food group plan permits an individual to plan a menu to achieve
nutrient intakes as specified by:/ U9 YIsd JYg dro-T T g1 Ay dive
T TURUT U He & T Gt auR - &t giaer St @

1. RDA
2. UN

3. UNESCO/J%!
4. All of the above/ Iudad Tt

Correct Answer :-
« RDA

33) Phosphorus plays an important role in the formation of:/ Laraare:|

& fmtor & wgygel yfirer fAvmar 8

1. Bones and teeth/ ST 3R qldl

2. Hair/w

3. Maturation of red blood cells/ el & DIRIBISH &b GRUD

4. Healthy skin/Xd¥f gdl

Correct Answer :-



. Bones and teeth/ 3ifRAT 3R aidl

34) Complications of pneumonia could result in:/?]:lﬂﬁ'm P Afeadan Cal
PR 99 P! &

1. Increased heart rate/ g&ad & E{@

2. Difficulty in breathing/ g o1 § wfeas
3. Both of the above/ Wi G

4. None of these/3TH ¥ &5 gl

Correct Answer :-

e Both of the above/ RUCIESRAG]

35) Angular stomatitis, glossitis, cheilosis are the deficiency symptoms of:/

ﬁvﬂtrgvg:w (Q%;av wWiHergfew), ogry (F@arsfe) ik sigfaewar (Fafm)
&Yl B:

1. Calcium deficiency/ PRy ot HHt

2. Riboflavin deficiency/ usd\lhlalrad Pt HH
3. Vitamin C deficiency/ faer®= C & &H!
4. Vitamin D deficiency/fdei®= D &1 &t

Correct Answer :-

« Riboflavin deficiency/ ST B HH

36) Which of the following is communicable disease?/ 370 q 19 UH HIRURNE
T 7?2

1. Diabetes/ AYHg

2. Dipetheria/ fewiifear
3. Kwashiokar/ BIRRDR
4. Marasmus/ERRAH

Correct Answer :-

« Dipetheria/ fewifear

37) The predominant sign of vitamin K deficiency is:/ faerfi K @t &t &1 g=1
Tddbd %:



1. Haemorrhage/ Yaddld

2. Weight gain/ dvi+ de-T

3. Polio/ Uiferl

4. Tuberculosis/ &4 T (Wﬁﬁ)

Correct Answer :-

« Haemorrhage/ Yaddld

38) What are the necessary steps to be taken for prevention of Dengue?/ @.‘{L

P AHYUH & T ISTT S ard ATTIP HSH T 82
1. Environmental hygiene and sanitation/ GaieRufT W@=sdT T SRy Ao

2. Use of mosquitos repellent/ 3= YA 9Tl SATG] BT YR
3. Protection through proper clothing/ 3fed a¥al & AT ¥ YR&
4. All of the above/G’q?jTﬂ Tt

Correct Answer :-

« All of the above/@éﬁﬁ ekt

39) Energy requirements during infancy are very high because this is one of
the periods of very:/ JRAHTAA SHoil MAIHATE Tgd U gidt & FNfP I8 954
St Ad TR

1. Rapid growth/ did q@

2. Rapid teeth formation/ ardl & dig fHfor
3. Rapid walking/ dsit ¥ Ia-

4. None of these/ 374 ¥ ®Is o

Correct Answer :-

« Rapid growth/ dtg dfs

40) A healthy expectant mother, consuming nutritious diet and regular
physical exercise have a good chance of giving:/ TI9® T8I A areit w4 fafia
U 9§ IR saramy 4 arelt ot Tifadt qrar & ara @ Pt BT JRITIAT

gidl &
1. Normal birth/ I9THII Udd
2. Caesarean birth/ HoIRTT g

3. Complicated birth/ Sifcd wqa



4. None of these/ sﬂﬁ J aﬂ'sc 'TEﬁ

Correct Answer :-

« Normal birth/ ITHI Udd

41) The "Purdah"/"veil" system decreases the availability of:/ "ugi" / "que"
TUT Y SUSedT "erd! gl

1. Vitamin A/ faeifia A
2. Vitamin ¢/ fderfi= €
3. Vitamin D/ faeIfi= D
4. Vitamin K/ faerfd= K

Correct Answer :-

. Vitamin D/ f[deIf#E D

42) Major commodities distributed in public distribution system include:/ 5S4

fara=or yomreht & faafya g4 arelt g1 awgei & wfaa &

1. Clothes, medicines/ dd, ifert

2. Wheat, rice, sugar, kerosene/ ﬁ_§", drdd, R[adhy, ﬁl?f P dd
3. Vegetables and fruits/ gfesrdi Td d

4, Immunization/ﬂﬁﬂ&ﬂm

Correct Answer :-
. Wheat, rice, sugar, kerosene/ 71§, aTad, G&x, He! &1 dd

43) A healthy well-nourished expectant mothers usually gives birth to a:/
WX, Guifta 1vfadt arar amm=e: P 9 <t &

1. Heavy baby/HR} QFSZI

2. Healthy baby/ W& fRIg]

3. Stunted baby/ 3feafddhid g
4. All of the above / wjaamﬁ

Correct Answer :-

« Healthy baby/wm



44) MMR vaccine provides protection from following diseases:/ MMR d&fiF

9 & fr A @ gren A R

1. Measles/ @I

2. Mumps;/ HUTRII/ TGS (HH)
3. Rubella/ Sedl

4. All of the above/3udad I+t

Correct Answer :-

« All of the above/3Iudad I+

45) Following are the determinants of food security except:/ 38 4 f&d
BIsHR 3 fapey, @ JR&m & fAuie g2

1. Food availability/ Qr<] USRIl

2. Food accessibility/ @<l JT&Idl

3. Food utilization/ &Tel JUART

4. Food marketing/Xdr<] fagua (Iﬂaﬁ?ﬂ)

Correct Answer :-

« Food marketing/@Te fauuE (drehTem)
46) Pandemic of disease refers to:/ Hdamdl (Y3fire) 31 &1 3 379 A frad @
1. When spreads through-out the world/ Si& I7T QX fay o % SQ

2. When spread among below poverty line population/ Sid T RIS W@ ¥ A | ard
ST ® et g

3. When spreads only amongst geriatric group/ SER Ww@ﬁf # a8

4. When spread is mostly observed in urban population/S/& I fIHTIT: TR SEwe H
W gl

Correct Answer :-

« When spreads through-out the world/ Sd @TTER fay o WGFFQ

47) Gestational diabetes during pregnancy may result in baby's with:/

THTGRITHTAN AYHAT & PIROT______ Il FRIR] HT &9 g1 APl &
1. High birth weight/ S/ & IHg 3ft® YR

2. Low birth weight/ S/ & IHd &H UR



3. Normal birth weight/ S/ & JHg 9Hg YR
4. All of the above/3dad It

Correct Answer :-

« High birth weight/ S/ & ¥8Y 3fdid UR

48) Undernourished pre-schoolers are prone to:/ 3equifyd yd-fagmerit =i o
BN &Y gwTa oifye Bl @

1. Protein energy malnutrition/SeH 3ol FAHOT
2. Protein malnutrition/ T¢I $UIyor

3. Energy malnutrition/ &l HUNOT

4. All of the above/3udad I+t

Correct Answer :-

« All of the above/3udad I+

49) Scurvy is due to the deficiency of:/ THdl P HH F HRUT T 8:
1. Vitamin ¢/ faeifim ¢

2. Fat/ a4l

3. Carbohydrates/ ®TEERIGE
4. Vitamin D/ fderf&= D

Correct Answer :-

« Vitamin C/ faeTi®= C

50) The bacterium Haemophilus influenza lives in:/ SHIBTSAY SUAET ATH®

Sty H YgaT &
1. Nose and throat/ A& g 7Tl
2. Intestine/ 3T

3. Heart/ a4
4. Stomach/ THIRII

Correct Answer :-

« Nose and throat/ A& g 7Tl



51) The process of introduction weakened pathogen in the human body is
called:/ AT-d YRR # &ftor 5471 f3T 7Y IrTe=a 3t ufaw o= o wfsear &t Fed
&

1. Immunization/ WfaReaftemur

2. Vaccination/ STl

3. Attenuation/&ftor

4. None of these/3TH ¥ &5 gl

Correct Answer :-

« Vaccination/ SIHIHRUI

52) One kilocalorie is equal to:/ Tk fealdant TN &
1. 4.184 kilojoules/ 4.184 fohdIe@

2. 4.284 kilojoules/ 4.284 fadia

3. 4.148 kilojoules/ 4.148 fad@
4. None of these/ 3TH ¥ &3 Tal

Correct Answer :-

« 4.184 kilojoules/ 4.184 fardio@

53) Recent studies have indicated the need for the inclusion of arachidonic
acid and docosa-hexaenoic acid (DHA) in food for infants as they are

particularly important for:/ grferar HW@WW%%WWﬁ%W
H WP i MR SIPHT-3aISH 3+ (DHA) P XM HIA BT ATIRGIAT 8
P 3 ¥ fre faRiy = @ wewyf &

1. Bone development/ IR & fapTg
2. Liver development/ & d & faer

3. Brain development/ ARTsH & faerg
4. Eyes development/ =31 & fa&rg

Correct Answer :-

« Brain development/ AR & &N

54) Iodine deficiency disorder in Adolescent could result in:/ fHRTGRIT #
M a1 PR 81 A 8 9ol &

1. Juvenile Hypothyroidism/ f&RIR 3fag3redishadl (Ja-Tsd sTeUURRIA SSH)




2. PEM
3. Pernicious anemia/ TR Qzﬂﬁl?:ﬂ
4, Scurvy/Eo_Cﬁ

Correct Answer :-

« Juvenile Hypothyroidism/ f&RIR 3ragsredfehaar (Ja-Tsd gIUIURRIAISSH)

55) Which of the following is a monosaccharide?/ TTH 9 P9 TS M HRISS a?
1. Lactose/ ddeIS

2. Maltose/ AT

3. Galactose/ TddeIS

4. Raffinose/ fth-ret

Correct Answer :-

. Galactose/ Tidiacial

Topic:- Grad_General Knowledge and Logical Ability

1) Naveen walks 20 m towards East, then he turns left and walks 10 m, he
again turns left and walks 20 m. How far is he from his starting point?/ ECIE]

7d @1 3R 20 Hew 7@, R ST gsar 10 Hiex =, 98 fibe I 918 ger ik 20 e T«
98 3 TR g A fpafti g e 2

1. 10 meter/ 10 Hiex
2. 50 meter/50 Hiex
3. 40 meter/40 O

4. 30 meter/30 Hiex

Correct Answer :-

« 10 meter/ 10 Hex

2) The Dowry Prohibition Act of was an effort at government
level to eradicate the evil of dowry./ gg fAuYy srfafaas, 8o DI PUUT &
IHEH 7 IRPRI WX W fowar Tam v Jri

1. 1970

2.1971

3. 1959



4. 1961

Correct Answer :-

« 1961

3) Facial deformity, defective limbs, heart problems, cognitive impairment and behavioral
problems in young children may be a sign of maternal abuse of which substance during

pregnancy:/BIe gl § dg¥ @1 fapfa, Srugef g1y-1R, gou Ta=h wuwam, Symrars eftvra, ik
IR T AATY, THGRIT F SR ATl gRT {59 Argw uerd & HuanT &1 Hbd gt TPl 8?2
1. Chloride/ FIRISS

2. Alcohol/ Tehigd

3. Salts/ <dUl

4, Tobacco/ el

Correct Answer :-

« Alcohol/ Tehigd

4) The Head of Zilla Parishad is a:/ e ufvug &1 gfEan gar @:
1. Chairman/3{&4&f

2. District Magistrate/ Wﬂﬁl@@'

3. Gram Pradhan/ 91H U4

4. Councilor/ UTSg

Correct Answer :-

« District Magistrate/ foren AfSee

5) DIRECTIONS: Find the missing number./f3%T: @ I J1d B

14 |198
19 |?

1. 325

2.418

3.522

4. 363

Correct Answer :-

e 363



6) During delivery of a baby, the process during which the cervix becomes nearly fully dilated
and the head of the fetus begins to move into the birth canal is called:/ ﬁl‘\ﬁ Cakcs %?TW, &g
afsrat & SR Uiz iar (wfdeT) v gft @ve o St g oiR MR Rigy &1 RR o= A1ra F omt
T R HY &l 82

1. Transition/ TshHUT
2. Labor/ U&d
3. Breech/ 3dc S (sfia)

4. Crowning/ STHIT/HISA (HI3HT)

Correct Answer :-

« Transition/ b HUI

7) In MS Office, work sheets are prepared in:/ THUY 3fpyg ﬁ, THhefic fFad FuR giat %:
1. MS-Word/ THTE-38

2. MS-Excel/ THUH-URIA

3. MS-Access / QTIWQH@G

4, MS-PowerPoint/ THII-UTR WEc

Correct Answer :-

e MS-Excel/ THUH-URIT

8) The 739 amendment act of Panchayati raj was done in:/ GaTds! IS
Srfuferaw # 73ai T=neq 59 9 forar war ar:

1. 1991
2.1992
3. 1993
4. 1994

Correct Answer :-

« 1993

9) DIRECTIONS: Find the Mirror image of the given figure./ frder. & wht awh
1 guor yfafers g &)

Question figure/ U¥ Gﬂq?ﬁl

N




Answer figure/ 3dX anqsﬁr

2NN

(@ (b (d)

1.a
2.b
3.C

4. d

Correct Answer :-

10) FAS refers to which condition:/ FAS &1 I forg fRUfa A %?
1. Facial abnormality system/ HREA QEFIW Ren

2. Father absence syndrome/ HiaX Q&ﬁfﬂ ﬁl@ﬁ

3. Fetal ammonia syndrome/®ica AT Rigw

4. Fetal alcohol syndrome/ icd Tehigd RigH

Correct Answer :-

« Fetal alcohol syndrome/ Hicd Tehigd RigiH

11) The term social justice was first used in the year:/ Ue AT S =A1g H1
SUUNT G99 Ugd Y o fopaT T AT

1. 1840
2. 1856
3.1948
4. 1950

Correct Answer :-

12) If ‘Lily’ is called 'Lotus’, ‘Lotus’ is called '‘Rose’, '‘Rose’ is called
‘Sunflower’ and ‘Sunflower’ is called ‘Marigold’, then which will be the
national flower of India?/ afe '$YfeTt" B ‘HU" FHel WTdT 8, FHA’ B! [ATS’ Hal
STdT 8, AT’ &) YRl HT STl 3 SR GReg™El’ &) ‘gl $7T |rdl 8 af HIRd BT
TP G B AT GRI?

1. Lily/$afe



2. Lotus/&HA

3. Rose/ T[dld
4, Marigold/ﬁ'ET

Correct Answer :-

13) A person pedals from his house to his office at a speed of x; km/hr and
returns by the same route at a speed of x, km/hr. His average speed is:/ T®

ATt 3T W A FrATaT B Ued x, fHei/aver it nfa & wrar § ok St I & x, fpel/
HUST $I TFd A a0 37T 81 STPI 3 71 &

Xy + Xg
1. 2

¥+ X
2. 3

3 Xy Xg )
4 1 + Xz

2Hy. X

4. X1 + Xz

Correct Answer :-

ZX:L . Ko

.X1+X2

14) Rs.4,200 is divided among Kamal, Dev and Rajat in the ratio of 7:8:6
respectively. If Rs.200 is added to the amounts of each of them, find the new
ratio of their amounts. /& 4,200 & T I HUH, 9 3N T S T HATT: 7:8:6
¥ 3rqurd A faurfora @1 ot 81 afe 398 | s & Af A T 200 s f&A S¢ a1 IS
TR BT 47 3UTd JTd D¢l

1.8:5:2
2.7:9:5
3.7:8:6
4. 8:9:7

Correct Answer :-



DIRECTIONS: Choose the missing terms out of the given alternatives./ frd:

fu e fawedl o | gu ue F1d B |
a-cd-b -dabc - abc - abc -

1. acbdbb

2. abddbd

3. adbcad

4. bacddd

Correct Answer :-

« bacddd

16) Training and Visit System was introduced in India in the year:/ YR A
WIRI&OT T ITAT YUTTeH & Y& S0Td 39 AT 9 §5:

1.1974
2.1975
3.1976

4. 1977

Correct Answer :-
« 1974

17) Full form of ICT is:/ ICT &T T <19 &:

1. Integrated Computer Technology/ $¢1UCE HUER CaIarSit (TbIghd HECX WD)

2. Information and Communication Technology/ m@méﬁﬁ(w
Td YER Uenfieh)

3. Indian Computer Technology/ 3f&a- &eR TaIdS (MR SR Ui
4. None of the above/ IWRIad H § 13 gl

Correct Answer :-

« Information and Communication Technology/ ZHIIRM Q@Iqo#gﬁao&ald éﬁﬁ\‘rﬁ(@ﬁlﬂ
Td 9IR M)

18) A cistern has a leak which would empty it in 8 hours. If a pipe is turned
on into the cistern, then leak will empty the cistern in 12 hours. Find the
time taken by the pipe to fill the cistern, if leak is closed./ Q’EF@?{E'H?[ &I 8 He
H Wil R T 31 Al TP a0 &l bt W Ut URGT 8, AT 8 df D bl Bl 12 U H @reit
HIdT g1 SB B WA T 9d & gRT T a1 99y g9 79, afe ¥ 96 a2



1. 20 hours/ 20 T
2. 24 hours/ 24 ot
3. 30 hours/ 30 ©¢

4. 45 hours/ 45 °¢

Correct Answer :-

« 24 hours/ 24 ¢

19) The average of 50 nhumbers is 45. Later on, it was discovered that two
numbers were misread as 12 and 19 instead of 21 and 91 respectively. Find
the correct average./ 50 J@IT3{l BT 3 45 &1 I1¢ A 34T 74T fh & HWATT HHI: 21
3R 91 & FOTT Terdt | 12 3R 19 U &t Wit &1 W&t ia gra Siford |

1.48.15
2.47.45
3.46.62

4.45.52

Correct Answer :-
e 46.62

20) Pointing to a photograph a woman says, “He is the son of the wife of my
husband’s father”. How is the man related to the woman?/ T&% d& R &t 3R

SYRT Hd §U U AfgaT ped! @ fp, "ag A ufd & far &) ueht &1 31 21 98 are) 39 afgen
¥ fora yprR Tl 32

1. Son/dcl

2. Son-in-law/<qMHTq

3. Father / U

4. None of these/3TH ¥ &5 7ol

Correct Answer :-

« None of these/éﬂﬁﬁaﬂgqﬁ

21) Protection of Women from Domestic Violence Act was passed in the

year:/ T¥q f&ar & ufgarsii o gream sriufray af o urfed gam AT
1. 2000
2. 2005



3.2010

4, 2015

Correct Answer :-

« 2005

22) National Rural Health Mission was stared in the year:/ ?TQ’I'HEITFﬂ'UTW
iz ot 3 ena fa aTa §s:

1. 2003
2. 2004
3. 2005
4. 2006

Correct Answer :-
« 2005

23) Which answer figure will complete the pattern of the question figure? /

e o 3 ot Y SR spfa wy enpfa &t guf wvft?
Question Figure /725 3T Answer Figures /37 HIF T

[T
?
I 0
[J =
ml ml Y
na! =) (b) (©) id)
1.a
2. b
3.C
4. d

Correct Answer :-

24) The nodal ministry of the government of India for the advancement of

%vomen and children is:/ mﬁwa@ﬁm%mmwmmm

1. Ministry of Social Welfare/ JHTS &0l HATT

2. Ministry of Women and Child Development/ Afgdl Td a1d f[d& 1 Hare™



3. National Commission for Women/ 814 Higal 3TART
4. None of the above/ SWRIad | J ®Is gl

Correct Answer :-
« Ministry of Women and Child Development/ Afgdl Td a1 fasbrg HATed

25) Child Marriage Restraint Act 1929 was replaced by:/ 919 fdarg Ry
Sffrae 1929 &1 R ... 3 e ari

1. The Prohibition of Child Marriage Act 1978/aTd faare Ay sifdf=aw, 1978
2. The Prohibition of Child Marriage Act 2006/ dTd faarg vy sffad, 2006

3. The Child Marriage Restraint Act 1974/ §Td faarg =Ry sifdfaH, 1974
4. All of the above/ I9dad g+

Correct Answer :-

« The Prohibition of Child Marriage Act 2006,/ STd fadtg fAuy sifefaH, 2006
26) Ctrl + X’ depicts:/ ‘Ctrl + X’ WaRfa &ar

1. Cut/ &c

2. Copy/ iUl

3. Clear/ fRR

4. Save/ g

Correct Answer :-

27) CANCELLED

The NAIP was launched in the year:/ NAIP aﬂwanasvatfﬁ'gé:
1. 2011

2.2012

3.2013

4, 2014

Correct Answer :-

« 2011



28) ‘Ctrl + B’ depicts:/ ‘Ctrl + B’ USRfd &1 g:

1. Ungroup/ YU
2. Bold/ dies

3. Backspace/ ST
4, Save/ g

Correct Answer :-

. Bold/ I

29) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements. /31 T fU 7T wxA A 0 FU 3R I9P 918 $9 Frepd faw 7w g1 st
fou U HYA! 3 TG U 8, HA §) 3 wdgTa aa J U= wdia g g | 3t forsest @1 ufen
ﬁwxgﬁﬁqaﬂﬁqwﬁwﬁﬁﬁaﬁﬂmaﬂm U H TEV SR g, qTe WaTd ad
TS |

Statements: /PY:

All windows are doors./ Tt %g%cn Wﬁ %

All buildings are doors./ 94! SHRA aars &

All doors are boats./ Taft Wﬁ W%

Conclusions: /o

I. All windows are boats./ 94} fasfeai g &

I1. All buildings are boats./ Tt ?FI'R?I q‘l‘d%

III. Some boats are doors./ﬁﬂﬁmﬁ g

1. If only conclusion I follows /ﬂ%mﬁﬁb—ﬁh SFETUTW%

2. If only conclusion I and III follow/af¢ dad sy I 3R 111 &WW%
3. If only conclusion II and III follow /afe Had FsBY IT 3R 11T SR Hd §
4. All follow/ Tt SFTERU Hd §

Correct Answer :-

« All follow/ T SFTER0 &xd §

30) The computer which works on discrete data is:/ FRTR THSI W FH B ATAT SR Hadrdl

&
1. Digital Computer/ f&fSied degex



2. Hybrid Computer/ gT3fsg &R
3. Analog computer/ TTANT SR
4. Dell computer/ S& HTR

Correct Answer :-

« Digital Computer/ f&fSicd e

31) Find the correct pair:/ gt qH ﬁ%
1. IUDs- Cervical caps/ IUD-9af3%d &Y

2. In vivo fertilization-ZIFT/ Sfid (3 faah) FAs==-z1FT

3. Intro cytoplasmic sperm injection- IUT/ 3fcRT HIRHIEH YHTT] 3 AT0T (ST W TETHS WY Fola=)-
IuT

4. In vitro fertilization- Test tube baby/ UIF] (g7 ﬁ'@) BLERE Wﬂ?ﬁm

Correct Answer :-

« In vitro fertilization- Test tube baby/ O& (3 fagl) Fu= - TRE-Te RigY
32) The germinal period occurs:/ SHf® 3afy 9 gl 8:

1. When the fetus becomes viable/ ST& My fRIg Sfta-am B T 8

2. Two weeks after conception/ THYRUT & &1 TwTg 91

3. 6 months after conception/ THYRUT & 6 ATE dIC

4. Before conception/ THYRUT § Ugd

Correct Answer :-

o Two weeks after conception/ YR & T g 91

33) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fadar: frufafed vy & uyeras e ) &
R U DI AT | ST ?

89.988% of 699.9 + 50.002% of 999.99 - 170.015 = ?
1.1920

2. 800

3.905

4. 960

Correct Answer :-

« 960



34) Personal Computers or desktop computers are examples of:/ PR GTGE'\' 1 S&Hely W
frad IareRur 8

1. Mainframe computers/ 89 ThH HTCX
2. Mini computers/ Tt hgex

3. Micro-computers/ HTSsh! IR

4. Super computers/ JuR HICR

Correct Answer :-
« Micro-computers/ TS HEE

35) Combination of the best features of both digital and analog systems is:/ f&foed @ TATENT
S yomferal &1 et afvryor

1. Hybrid Computer/ BTfa€ HuIx
2. Analog computer / TATENT HEX
3. Dell computer / S HHR

4. Digital Computer/ f$fSied dgex
Correct Answer :-

« Hybrid Computer/ 82fsig HER

36) Select the correct order of periods of prenatal development:/ m—q\a‘ﬁﬁmaﬁ Srafery &1

g P ﬂﬁ

1. Germinal-embryonic-fetaIN?W—Q{UT-TTQ-TGT
2. Embryonic-fetaI-germinal/‘{W-‘Tﬁﬁ-W
3. Germinal-fetaI-embryonicW—ﬂﬁ-‘{UT
4, Embryonic—germinaI—fetal/?;LUT—GI:FW—‘Tﬁ-H

Correct Answer :-

. Germinal-embryonic-fetallﬂ?%-%‘[m-m-fﬁf

37) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fiq=r: fFafafEd vy & uyars e (2) & ®=H
TR T B AT I ST 2

675.456 + 12.492 x 55.671 =?
1.1971

2.1071



3.1171

4.1371

Correct Answer :-

« 1371

38) Which of the following has discoidal placenta?/ ¥ # ¥ f3x®esd =T
UTIT ST 82

1. Rabbit/ T

2. Deer/%TUT
3. Sheep/ﬂ‘q‘;
4. PigYsRR

Correct Answer :-

. Rabbit/ TN

39) Find the single discount equivalent to a successive discount of 20%,
15% and 10%./ 20%, 15% 3R 10% @ &< FHNTT Fel &b SRTaR TH Je [1d PHT|

1. 52.6%
2.45%
3.42.2%

4. 38.8%

Correct Answer :-

« 38.8%

40) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ 3T fFrafaf@a urg aré &1 eagd® sreaa #= - feg Te uy
& IR difg|

Yearly expenditure of a family on different items / faftra wel = Qﬂﬂlﬁm‘\’ Caj
arfie =g



Education/

foem, 15%
_\\f.\ Food/sNa, 25%

Miscellaneous/

fafae, 10%
Saving/¥9d, 5% Petrol /AT, 10%
HOUSS Sant/ T Clothes/®qz1, 10%
g, 13%

Travel/ars, 12%

If total expenditure of family is Rs.1,70,000 per year, then how much does
he expend for house rent per month approximately? /tri%ul%mftrhaw Pl Pd
T4 9 1,70,000 B, a1 Ufd AT TR & A R TUT fova—n @ 82

1. Rs.22,100/%. 22,100
2. Rs.20,000/%. 20,000
3.Rs.1,840/%. 1,840
4. Rs. 2,000/%. 2,000

Correct Answer :-

« Rs.1,840/%. 1,840

41) Kanya Vidya Dhan Programme provides fund for:/ =T fae o= srdeH fea
®1d & T 4 Iuersy ST 8

1. Marriage of girls/ @W%ﬁ@%’

2. Education of girls/ @&l &1 e
3. Feeding of infants/ Mﬁ% SIEIR
4. Birth of girls/ dsfpdl & o

Correct Answer :-

« Education of girls/ asfordl ot e

42) Learning without burden was the report of:/ Sig1 fa=r srftrm (@fH fagrse
TSH) ot feaid ot

1. Kothari commission/ BRI 3TN
2. Chattopadhyaya commission/ dgIUTemd AN



3. Dr. Yashpal Committee/ SI. I=GTA TfHfd
4. None of the above/ SWRIad | J ®Is gl

Correct Answer :-

« Dr. Yashpal Committee/ 3. IR AT

43) According to Erikson the most important crisis faced by adolescents is:/

TR F R, PR F G oM aren 9w HeAyUl 99e &
1. Identity confusion/ Ugdld YH
2. Physical growth/ IRIR® g

3. Parent adolescent relationship/ fHRIR BT AT ¥ T

4. Peer pressure/ it T efl 1 gara

Correct Answer :-

« Identity confusion/ Ugdld YH

44) The full form of DIR is:/ DIR &I T 919 &:

1. Domestic Intensive Report/ @ﬂmgﬁaw ('aiqw:r ﬁ’tﬁ?f)
2. Domestic Inner report/ 3MAREH R RUIC (R 31 RUIc)

3. Domestic Incident Report/SHAReH gTac RUIE (B ge1 Rare)
4. None of the above/ IWRIad H ¥ &g -Tg!

Correct Answer :-

« Domestic Incident Report/@qmmw (‘EQT:_L‘EIE:IT f{cﬁ?f)

45) The difference between the compound interest and simple interest on a
certain sum for 2 years at the rate of 10% per annum is Rs.200. Find the

principal (in Rs.)./ 10% d1fY® sarel &1 &3 | gt aul A U gaud R Wi sarel 3R
TIYRUT TS BT 3fdR T 200 B gau= (FW #) 71 P

1. 16,000
2. 25,000
3. 18,000

4. 20,000

Correct Answer :-

- 20,000



46) The price that is announced at the beginning of the sowing season is

called:/ S13E & THIH A IRY & g Saa $t gryon i wirdt @ 98 FHeard 8
1. Issue price/ ﬁﬁﬂ&?ﬂ

2. Fair price/ 3fed g
3. Market price/ dINR I

4. Minimum support price/ Wﬂﬂ?ﬁﬂﬂ\?ﬂ

Correct Answer :-

« Minimum support price/ leﬁlﬂfﬂ

47) The first Panchayati Raj’ in India was introduced in the year:/ YRd #
AU Ut I B YHATT 59 99 §5:

1. 1957
2. 1958
3. 1959

4. 1960

Correct Answer :-

« 1959

48) By selling 8 pencils, a shopkeeper gains the selling price of 1 pencil. The
gain percentage is: /8 URd 991 W TP gHTHeR B 1 TRTa & fIera Teg & aRTaR 31
T BT 81 1Y &1 ufaerd &

1. 9.09%
2.11.11%
3.14.28%

4.16.67%

Correct Answer :-

e 14.28%

49) Majdoor manzil is the concept started in the:/ nangrﬁmarq'%rmnaﬁ
e arTd frafafea o g3 ot

1. Sevagram experiment/ LEIPIERC LIk
2. Nilokheri experiment/ ;ilc"ﬂ@él TN



3. Marthandam Experiment/ i< yanT

4. Gurgaon experiment/ T&Td YA

Correct Answer :-

« Nilokheri experiment/ :ilélﬁél TN

50) Count the number of triangles in the following figure./ =% 3mefa | ﬁl’l;[\‘rﬁ'
P AT T B |

1.8
2.10

3.12

4. None of these@ﬁ q aﬁéq‘aﬁ
Correct Answer :-

« None of these@ﬁ@fﬁ"ﬁ:ﬁ

51) In SGSY, the ratio of funding by the centre and states was:/ SGSY A Hgg
ST GIRT W& BT SUTe UT:

1. 25:75
2.50:50
3.75:25

4. 80:20

Correct Answer :-

e 75:25

52) Slides are prepared in:/ XI5S sﬂ'ﬁ R F} S %
1. MS-Word/ THTH-a8

2. MS-Excel/THUYH-URT

3. MS—Access/QTIW—QEI@G

4, MS-PowerPoint/ THIH-UTR WEc



Correct Answer :-

« MS-PowerPoint/ THUI-UIGR Wigc

53) Which one of the following options is/are not true? / 9 & ¥ ®99T fagey

LK

1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ fe=g STRINGR 3ifATH, 1956 dfedl oI U Tgad fgg uRarR 4
$ad SifdpT o1 RBR AN Il &

2. The Hindu Succession Amendment Act, 2005 gave daughters the right to
inheritance with her male siblings / fgg STRIY®R W=NeA HfAIFTH, 1956 & gRT dfeal
D1 3O YTSA & 1Y foRId &1 ABR waH fovar

3. The Supreme Court in 2015 ruled that daughters whose fathers died before
September 9, 2005 will however won't be applicable for the Amendment / 2015 A

I H1E 3 78 Farar o1 {59 sfedt & frar &1 9g Riawer 9, 2015 & gd g3 8, 98 39 G2ed
SR UeH fobd U 3RpR & Taied et §

4. None of these / G‘@Hﬂﬁéqﬁ

Correct Answer :-

« None of these / G‘@Tﬁﬁ'ﬁﬁ'ﬁ

54) Which one of the following diagram represent the relationship between
Rhombus, Quadrilaterals and Polygons?/ o dd oF @ W alT?fﬁl, H‘H‘tlﬁ'l;fﬁ,
TgUS R TgYS & Ueg TG DI gRIidl 82

———— i

4, -

e

———————

55) What is a teratogen?/ LU (é?'l?:ﬁﬁq) Cul) %?
1. A measure of prenatal activity/ Wt{qc Tiafafy &t ww A



2. A physical deformity caused by harmful substances transmitted through the placentas/ TG & Aremy 9

TAIRA §U BTHHRS UGl & HRUI IUH g5 DIs IRIND [APicl
3. A layer of the embryo/ ‘{UTEI%WU?\:

4. Any agent which can cause a birth deficit or have negative effects on behavioral or cognitive outcomes./ Dl
Tole S IS T Iy I HR Gl § A1 AIeR YT T Jaiedt R IR FoRIeTS THE SId qabal
gl

Correct Answer :-

» Any agent which can cause a birth deficit or have negative effects on behavioral or cognitive outcomes./
HIS TOiC SN Plg ST I U HR Thdl ¢ A1 AR 3HYal T Taeh uRoumdf )R TGRS gHTd ST
FHar gl

Topic:- Grad_Managerial Skill

1) When encoding the message, which of the following may be overlooked?/ TR HT HIs
(TADIET) Fd TG 370 | B -ToR 3T gl TPl 22

1. Language/ HM™T
2. Symbol/ Udid
3. Sign/ dahd

4. Table/dTfereT

Correct Answer :-

o Table/dlcrapT

2) Which of the following theories subscribes to the view that a shared culture is necessary if a

society is to run smoothly?/ 3T J ®1H-9T g 39 faaR &1 qudq wvar 3 % Jue &) gas én
¥ g™ & I Are Wepla g1 SaRa® 82

1. Marx/ RS
2. Mead/ #1s
3. Weber/ d&R

4. Durkheim/ ﬁq

Correct Answer :-

« Durkheim/ g&H

3) Which of the following is the element of difference between community and society?/ ?Fl'el |
DI IS IR TATS & 9 & IR BT 4P 82

1. Definite locality/ IEPER Rﬂ:ﬂTIFIT/@I?T
2. A group of persons/ el &1 g

3. Likeness of interest/ Tfal & THFT



4, Sentiment of oneness/Ud sib‘l's: Eﬁ%{ CARYIGEI

Correct Answer :-

« Definite locality/ fA=ad SFHad/=d

4) The concept of “role” in sociology refers to /) HHTSIRIE | "ﬁ-‘[&ﬁﬂ“ P SYURYT BT 34
a2

1. Position aspect of the individual/ fdd &1 Te/fRufd Tra=h g
2. Static aspect of the individual/ Sfad &1 Wfd® Uge

3. Behavioral component of status/ %ﬁlﬂﬁ D HdER T e

4. Normative aspect of behavior/addgR &l AH®T Ugq

Correct Answer :-

» Behavioral component of status/ eRrad &1 saggR Tref ues

5) Sociology is the study of:/ HISRIIRA __ T I %I
1. Socio-political institutions/ AT -IoT e TeIT3

2. Political system/ JSTfde o

3. Human behavior/ HIFMd HdgR

4. Society/dHIST

Correct Answer :-

» Society/IHIS

6) Michigan Leadership studies are based on the following approach to the study of leadership:/

RN Ag@ vrTE, Aqd & g F {5 vgfa W snula @2
1. Trait Approach/ T&0T TGid

2. Attitude approach/ a91 ggfa

3. Behavior approach/ dgR UGid

4. Situational approach/aRiRUfdS= TG

Correct Answer :-

« Behavior approach/ deR Ugid

7) Social insurance includes:/ GG SHIH =@ @:
1. Pension/ R

2. Unemployement/ SRISTR



3. Disability allawances/ 3{Rladdl i)
4, All of the above/B'CPE[HH Tt

Correct Answer :-

« All of the above/3udad Tt

8) CANCELLED

Which of the following is not a stage of the communication process?/ 38 ¥ &9 YR Uferar &1
TS WO 31 82

1. Feedback/ BIgea (FFaRM)
2. Encoding / ®1e (TAHIGT)
3. Channel selection/ TRt (aﬂﬁ) Iggq

4. Recipient/gTed!

Correct Answer :-

. Recipient/mﬁlav_cﬁ
9) CANCELLED

The term sociology is coined in the year?/ JHTSIRIRG & 30l g WRAATON H1 af H er
T YT:

1. 1798
2. 1829
3. 1839

4. 1818

Correct Answer :-

« 1839

10) Sociology is a science because it:/ THISRIRA UF Ay e AP a8______:

1. Uses systematic methods/ Saafeyd fafert &1 IuaiT & 8

2. Is a social change/ Te TSI URadH &

3. Considers finding tentative until verified/ fs ST & 8 & AT AFAT 8 S db IHT AT 7 §1 ST
4. All of the above/3Iudad Tt

Correct Answer :-

« Al of the above/3udad T+



11) Which of the following is not a perspective of communication?/ ERLE P TR BT U
uRiied =181 82

1. Critical/ shifdes

2. Modern/ &HW

3. Post-modern/ WWW
4, Democratic/EITrﬂ?lTW

Correct Answer :-

« Democratic/USTdiA®

12) Language is important to society because:/ JHIS & ﬁfE HIHT 'FIGﬁ'lIUf % HifP:

1. It makes social contact easy/ dg JrATfoTp TP ST STt %

2. It raised man from a savage to a noble being/ Hﬂ&laﬁ ST W@WWWWW%

3. Itis an invention of society/ g THTS I Udh SAHR %

4. It easily satisfied man’s need of expression /I8 HIS & GRS BT SMILIHAT B! IRl J Fgy HCT §

Correct Answer :-

« It makes social contact easy/ T8 TTHING THH SR S §

13) ICT is an acronym for:/ ICT T QRT HH f
1. Information Communication Technology/ FhIHRH HHRIFHLA SaHars (JaT TR Wit
2. Information for Communicating Technology/ STHIHRM TR HRIFGBIT Sl (YR Wfidt 8 Ja-T)

3. Information and Communication for Technologists/ SHHRM U8 HRIADGI HR ARy (Teifidifaal
] Yo U4 HaR)
4. Informants of Communication Technology/3 ey 3T HRIAHF araion (TR W) & FETer)

Correct Answer :-

 Information Communication Technology/ SHIERA Wﬁ%&ﬁ THST (GERLRELN ﬁ?ﬁﬁ%‘b

14) Welfare programmes based on social policy in India are not provided in one of the sector
mentioned below:/ YRd & ATHIF®G i wR mefyd Hearor HRiwH i ga1¢ ¢ § 9 T 83 d ugH
51 {5 o1d §1 98 $-31 87 32

1. Health/ XY
2. Entertainment/ ARG
3. Employment/ ISR

4, Education/ e

Correct Answer :-



« Entertainment/ ARG

15) Total quality managementis a oriented function:/ $ < UTAHT UdYq T fo\‘l-l'ﬂﬁ
UhT g:

1. People/ qm

2. Quality/ TJ0TaT

3. Production/ 3dia

4. None of these/3TH ¥ ®Is -Tol

Correct Answer :-

» People/ AN

16) Which of the following is not an example of verbal communication?/ ET-I'I?[ ar Tfeg®/
IS TaR FT TH IS0 a1 32

1. Telephone / THIBH
2. Words/ Xsq
3. Writing/ &G

4, Interview/d&Tch R

Correct Answer :-

« Writing/ a4

17) The relationship in a secondary group is?/ fgdfla® Tqg & W= H1 giar 32
1. Personal/ SfaaiTd

2. Intimate/ 3~

3. Formal/ =R

4, Informal/&ﬁarCHTW

Correct Answer :-

e Formal/ e

18) What pair of making team decisions?/ 3 fAofg &9 &1 F1F-w1 Gﬁ?ﬂ?
1. Lack of response & unanimity/ 31‘3’[37&1 3R YA BT 3HT

2. Lack of response & minority rule/ 313@7’&1 3R eggEI® e &1 31y

3. All votes are equal & recruitment/ Tt 7d T g Td wdf

4. Feedback & unanimity/fdgf® Td Ade



Correct Answer :-

« Lack of response & unanimity/ 3ffsaT 3R TR HT U

19) Which one of the following is NOT a principle of social group work?/ Eﬂﬁ q S IS

g BT BT TP figr e 82

1. Confidentiality/ Ta=adT

2. Guided group interactions/ AFTGIRIT TG Sf=Iiohand

3. Progressive programme development/ yifashia srdeH fae™

4. Bvaluation of the progress made by the group/dHg gRT D1 T WIS IEJW

Correct Answer :-

« Confidentiality/ THo=iaar

20) The most common indicator of social class is:/ TS T BT I 3TH Jhdad %:
1. Race/ STt

2. Occupation/ a3

3. Education/ fRrem

4, Skills/PITd

Correct Answer :-

e Occupation/ Fad™I

21) Social protection does not include:/ |G GR&T A =nfla A8t &
1. Food subsidies/ @Tel 3Mies Tgaa

2. Public works projects/ @& faToT gRasrHTg

3. Supplementary feeding/ YUR® 3TGR

4. Alms/aH

Correct Answer :-

e Alms/aH

22) CANCELLED

Effective speaking is depends on:/ YHTdSt Hwor _ Rl wrars:
1. Context of the oral communication / HIfd® TR & Tgaf

2. Prior adoption of delivery style / TGRRT Th & Hj gl

3. Absence of feedback/ Ufdgf® @ rufeufd



4. Identification of key points to put across / I T T T ﬁ@h &I UgdH

Correct Answer :-

« Absence of feedback/ Ufdg® &1 Uk

23) The Central Social Welfare Board was established in the year:/ F=g U Hearur A1S Bt
TG Y o ot it <

1. 1980
2. 1970
3. 1950

4. 1953

Correct Answer :-

e 1953

24) Social services will not include:/ IrHIfoIe Farsi & - U IE ] Hﬁ@"'ﬂ
1. Care for vulnerable groups / \’rlﬁ?f\&lﬁ H@WW&W

2. Care for weaker section/ 3(U&THT HHAR qqD BT A&

3. Care for affluent/ &FTaT! T TREUT

4. Care for needy/SIeIdH Gl BT TREUT

Correct Answer :-

« Care for affluent/ &AM &1 TI&IUT

25) “A social group is a system of social interaction,” Who defined so?/ “|MHII® T, ARG
SAThaT B TH YOI 37 I8 Uiy ERT & Wt <

1. H. M. Johnson/ Td. TH. SI&H
2. Marshal Jones/ I S

3. Bogardus/ GRS

4, Simmel/ﬁl‘ﬁﬁ

Correct Answer :-

e H. M. Johnson/ Td. TH. Si-94

26) The performance norm defines the level of : /USRI A & R B gRuIfta
Hl &

1. Work Effort & Attitude/eRi Tam Td 393
2. Attitude & Contribution Performance/ 3T 3R e UeH



3. Constructive Criticism/ YdITHD JHTAEAT

4, Contribution Performance & Work Effort/?iﬁTIE'H TR iR &1t uag

Correct Answer :-

« Contribution Performance & Work Effort/aigH TS 3R & Tar

27) Sociologist describe the term ‘Group’ as:/ TJUTSIRIRAT ‘qYg’ e Cg| ¥ = ¥ aftfq
A %

1. Collection of people/ ATl & Thad
2. People involved in organized pattern of / 3f=fdhdl & Tfdd Te # Term At
3. People interacting at a place/ P wH W srafdhar R 3§ anl

4. Participation in a gathering Jicasl W/H‘lﬂ?ﬁ RG]

Correct Answer :-

« People involved in organized pattern of / 3=fdhaT & TIdd Ue H Taw art

28) Field work in social group work helps to acquire:/ JTHTRNG TYg H1 A &3 $1d, 3ifofa
P T eI HRal 8

1. Knowledge/ I

2. Skill/ PRI

3. Attitude/ X341

4, All of the above/B'CPjHH it

Correct Answer :-

« All of the above/3udad Tt

29) Horizontal system of communication takes place between or among:/ & a9 AR

o gt yomreft warfera g 8:

1. Equal/ §HqMH an

2. Superiors and subordinates/ aRy srfdemiar 3R Sfef=f
3. Subordinates alone/ Had et

4. Superiors alone/ Fad IRy TRl

Correct Answer :-

» Equal/ ¥H1 Sidl

30) What is not one of the four important Manager roles?/ ERLE| a?r=r, UGG D IR H’s’ﬁ"]?f
Yfreprait ¥ A T 16 82



1. Supervisor/ Taed (gURATRSR)

2. Facilitator/ gHR® (HRItICCR)
3. Internal coach/ 3T<IR® URI&H

4. External coach/STel UfR1&fe

Correct Answer :-

o External coach/dTgl ufiers

31) When culture traits speed from one society to another the process is called?/ Sid T TSl &
TITFTS TEVT gOR THTST | dolt o ST § o 39 UfehdT St T HgT ol 82

1. Assimilation/ ST 0T/ 0T (TRIFCRH)
2. Diffusion/ faRor

3. Pluralism/ WE/EEW

4. Evalution/Hcdich

Correct Answer :-

« Assimilation/ 3TETHTAEH 0T/ GH BT (TRIAIRM)

32) The book “The Sociological Imagination” is written by:/ “& JiRRrAdioed SARHRMA” AU
q® J fordt 8:

1. Parsons/ URI-Y

2. Brewer/ 3R}

3. Elliot/ Tfierae
4. Wright Mills/13¢ e

Correct Answer :-

« Wright Mills/31g¢ e

33) Social rights will not include:/ ImIfoi® SfYpRI A =mfdre 181 gi:
1. Child/ s=

2. Labour/ 4f8d&/TsgR

3. Women’s rights/ Afgaisfl & 3feeR

4. Care for political section/JST-ifdd dad BT TRETT

Correct Answer :-

« Care for political section/ITS-fdd dad BT TIETUT



Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./f32r: fRaferfad e
P AFYAP TP 3P - fed 1A agfawad) w=al # 9t fawew &1 9= +3¥)

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

ge¥re R fIRT 95d IR 81 $e-ie U & <X & It ugE Wial, Hal SR ERl | Suasy 31 fasie
THEEARR, T B 31 Feee ASTRI B Heg | Feie A famrur frar o 9&ar 81 3ra-Suaiaarsi &t
g3 ¥aT A a1 WS P Se3-Ic WAl YTl (ISP) FEd & | I, Se-ic Bl Awhardl BT Hoit g1 gi=ar
WR Y YA THT B & AT e &1 Wi fhan o goar 21 3 A e, fafewn, aifgw,
TIFEAUR, FIYEX, AR, WA, firrdr, wdeq vd pradt nfafaftry @ wwafRa 8 wwodt 81 @ fafis
@ﬁﬁﬁ%@wﬂawwmﬁﬁ@awm%@ﬁm%WWW IASTE Td SRAA
$ee W IUAH 71 FISaS 3R I HiaTsd gruaR Menfifear ok 36 (st didh) sk 46 (At didh)
3T 9 F Fe-ie AaT Ft 1A & Aed i gfs §5 81 39 6 9 $© Adbs! § gHaT R & JuER fBa gad
T getHe A Ot B TR $t Haltue Juas & e @1 31 79 g & f6ft M s A §-a3a
(AP AT ey &1 Jfdrafiwon e Iwd 81 ¥Q +3 AT Jeedur Suasy § PFd e &
WRT Rud-erga w1 4% 3R UIe o I &1 g9 Bt oft Afdr Aiedur &1 Iuahn & oA i ik
TrEfT | 919 R Thd § | AT WA Aedi b Agel W U= WA I I I8 aad 81 37 arg
B W 3 I gradtd W $R Thd &1 IR AeafdhiT ase gl guRl & a1y f argn s 3t gl o
0 21 3 B W BN F IR 3 sl & a1y R aren &% I@a &1 AN @t 39 Wa Aeafe Agel
W RS Wi W B2 @ 7

Which internet browsers discussed in this passage?/ 3H 3J®q A fd Fe-ic qGwR 31 T4f Bt
Tt 82

1. Windows explorer/ ICEIS] W
2. Google/ T[T

3. Chrome/ IH

4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3uad Taft



2) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁi’QT: fFrrafafaa e
P AFYED UgHR 39F -1 33 T4 sgfamadt w=ail § Odt fowew &1 997 31

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

g3 W AR 95 WA 21 S W &R o & Tt v T, el ok wesl # Suasy B1 fieiw
THERR, T HIH 31 Feve ASRI B Heg | Fe-e # famRur frar o 9&dr 81 3ra-Suaiaarsi &t
$eIC AT A a1 WS P S WAl USIdT (ISP) FEd & | I, Se-ic Bl Awherdl BT Hoit g1 gi-ar
WR W YT THT B & A et &1 Wi fohan o aar 81 3 A e, fafen, aifg,
TIFEduR, FIEX, AR, AR, e, W@mﬁwm&wﬁaﬁm%lvﬁﬂﬁﬁm
@v{m%sﬁnﬂawwmﬁaﬂ@aaﬂmélgﬁm%;rmww TRPI¢ Td SRAd
3o W IUAH § disds R I9d HiaTsd gRuaR Menfifeal 9 36 (st dih) ok 46 (AR Widh)
3T 9 |V Fee-ie JaT Ft 1fd & Aed i gfS g3 81 3T 6 9 $© Adbs! § gHaT1 R & gUER fHa gad
?1 gt A ot B TR Ft walfie Juas @ yem @1 31 g9 g & it s A §-a3a
(AT AT ey &1 Ifdrafiwon Js @ 81 T +3 AT Jwedur Suas § FFd e &
Tfve Rad-ergw Hexr Wet 3R UTe o I d 81 89 Bt oft e Aivedar &1 Suaivt e v it eik
TrEfRRl A 919 R Thd § | AT WA Aedi s "igel W U= WA A I I8 aad 81 37 ifarg
T W I I aradia Wt Y Fod g1 HIRe Aeafh urse g6 gkl & a1y R aren A 3t gfder oft
N T U T W I & IR v Rrgel & A1y o Argn w1 wwa &1 AT A 37 We Aeafh T argel
W AUNRS g Wt F3 7 7

The key to success of Internet is the:/ g3 FI Yhadr B Hoil 8:
1. Information/ -l

2. Audience/ GRIHITOT

3. Television/ <aiifaeT

4. Newspaper/JH[R-UA

Correct Answer :-

 Information/ -1

3) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAuferfad e
P UFYHS YegHY I -4 &3 T gglawadt wxal & w8t fave &1 9a9+71 $3|



Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

ge¥re W fIwRur 95d IR 81 Se-ie U & <X & It wigE e, Sl SR eRl | Suasy g1 fasie
THERR, T B 31 Feee TESwRI B Heg | Fe-ie A famRur forar o 9&ar 81 3ra-Sudiaansi &t
g AT A a1 WS P Se3-Ic WAl YTl (ISP) FEd & | JIT, Se-ic Bl Awherdl BT Hoit g1 gi-an
WR Y YA THT B & AT et &1 Wi fban o goar 81 3 A e, fafewn, aifgw,
AIFEdUR, FIEX, AR, Ao, e, m@wmawﬁwm%umﬁm
@Wﬁﬁ%@wﬂawwmﬁﬁmmmél g & @it FHER-u, 1ReTE Td sRAw
g R IUAH 71 FISaS 3R I Hiasd gREaR Menfifear o 36 (st didh) ok 46 (At didh)
3T 9 | Fe-ie AaT $t 1fd & Aed i g g5 81 3T 6 9 $© Adbs! § gH-aT R & JaER fBa gad
Tl $etHe A Ot ) TR $t Haltue Juas U e @1 31 79 g & foft it s A §-3a
(AP AT ey 1 Jfdrafiwon s Twd 81 ¥Q F3 AT Jiredur Suasy § PFd e &
WRT Rud-ergw wexr 4% 3R UTe o I &1 g9 Bt oft Afdr Aitedur &1 Suaht w3 oA s oik
TrEfRT | 919 HR Tbd § | AT A AedipT Agel W U= WH B I J8 a@d 81 37 Targ
B W 3 I gradid W HR Thd &1 IR Aeafdh T arse gl guRl & a1y f argn w1 3t giaen o
M €1 9 ZH W B F IR 3 et & A1y R Qe # Id &1 AT dl 59 QA Aedfh drgel
W RS Wi W B2 @ F

Which information is collected from around the world?/ gﬁm W I pH-0 I Th A &1 St %?
1. Education/ f2ram

2. Medicine/ fafdeT

3. Literature/ g

4. All of the above/Suad It

Correct Answer :-

« Al of the above/3udad T+

4) DIRECTIONS: Read the passage and answer the questions that follow./fé=r: fAuferfad wei=r
P UFYHD JgH ST -4 &3 T gglawadt wxal & W8t fawed &1 9g9+71 $3|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to



end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

g3 W AR 95 WA 21 S W &R o & Tt g i, el ok wesl # Suasy B1 faeiw
TR, T HIH 31 Feve ASRI B Heg | Feie A famRur frar o 9&ar 81 3rI-Sudiaarsi &t
$eIc AT A a1 WS P S VAT YTl (ISP) FEd & | JIT, Se-ic Bl Awhardl B Hoit g1 gi-ar
WR A YA THT B & AT et &1 Wi fohan o aoar 81 3 A e, fafen, aifgw,
TIFEAUR, FHYEX, AR, WA, fierdr, vdeq vd pradt nfafaftry @ wvaffa 8 wodt 81 @ fafis
@ﬁﬁﬁ%ﬁwﬁawwmﬁaﬁ@ammélgﬁm%;rmwm URPE Td SRAA
3o W U T Sisds R IAd HiaTsd RudR Menfifeal 9 36 (st didh) ok 46 (AR Widh)
3T 9 A Few-ie JaT Ft fd & Aed i gfS g3 81 3T 6 9 $© Adbs! H gHaT R & JUER fHa gad
Tl gt A ot B TR $t waitie Juas @ yer @1 31 g9 g & it M s A §-a3a
(AP AT ey &1 Ifdrafiwon Js @ 81 T +3 AT Jiwedur Suas § FFd e &
Tive Rad-ergw Hexr Wot 3R e o I d €1 89 Bt oft e Aivedur &1 Suait e s it eik
TrEfRRl | 919 R Thd § | AT WA Aedi s Agel W U= WA A I 98 aad 81 39 ifarg
T IR I aradia Wt Y God g1 FIRa Aeafh urse g6 gkl & a1y R aren A 3t gfaer oft
N T U G W AN & IR v Rrgel & A1y R Argn w1 wba &1 @R A 37 Wi Aeafh T argel
W AIR® Hie ft F3 7 E

What is the full form of 3G?/ 3G FT T -ITH T 82
1. Three generation/ 3 SFREM (i Uigh)

2. Third generation/ Y8 ST (IRt dieh)

3. Third group/ %3 JU (FRT T4E)

4. Three group/dt U (7 JHg)

Correct Answer :-

« Third generation/ ¥S SFRTA (a3 idh)

5) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAuferfad e
P UFYHS JeHY IU -4 &3 T ggfawadt wxal & w8t faved &1 9a1 $3|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,



entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world
are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

Fe¥9¢ W fIwRUT 950 WA 81 S TIHT & % & It g i, el 3R e’y # Suasy 31 fasiw
TFREARR, TTA 1 fS Seve ATSTRI B Hag | Fe-ic | faaror fovar o Jar 81 3rd-Suatanaif &t
$ec 9aT A T WIS P S VAT YTl (ISP) FEd & | I, Seic Bl Awherdl BT Hoit g1 gi-ar
WR A JIAE THT B & AT et &1 Wi foban o aoar 81 3 A e, e, aifgw,
TIFEAUR, YR, AR, WM, fierdr, e vd pradt nfafaftry @ avaffa 8 wedt 81 @ fafis
@ﬁm%ﬁwﬁﬁrwwmﬁaﬁmwm%lgﬁm%WWW RS Ud SRAd
gee R U 21 Fisds 3R I HiaTsd RugR Mefiieai o 36 (vt didh) oiv 46 (At didh)
3T 9M A FewHe AaT Ft 1fd & Ared i gfS g3 81 3T 76 9 $© Adbs! W g1 R F guER fHa gwd
Tl gt A Wit B TUR $t walfie Juias @ ver o1 31 g g & it M s A §-3a

(FAF I AT ey &1 Ifdrafiw?on) Je Iwd &1 T +$ AT Joedur Suas § PFd e &
wfve Rad-ergw Hexr Wt 3R UTe off I d 81 89 Bt oft e Aivedar &1 Suai o v st sik
TSR} | 919 HR TP d &1 AR NS AeafdT dgel W v ®RA A A 9 9wd 81 39 e
T R I I aradia Wt w3 wa g1 FIRa AeafB urge g6 gkl &ty R aren A 3t gfaer oft
M €1 T G W BN F IR 3= el & A1y R qrgn $ GFd &1 A a9l 37 QIR Aedih T drgel
W RS | ft 77 TR E

There are many _______ that can be used to send and receive real-time messages over the

internet:/ TAFS _ IUAH & M e & ST Rad-ersy Wer 9 3T uTe o 9@ d §:
1. Chatting software/ 3T TltedaR

2. Grouping software/ GftiT AlredaR

3. Internet software/ e3¢ ARITR

4. None of the above/SWRIad # J BIs g1

Correct Answer :-

« Chatting software/ 3fTT TTdedTR

6) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁ-Ii’ﬂT: frrafafad e
P ATYED YgHY 39> - e T agfawed! ==l | 9gl fawey &1 99+ H¢|

Internet surfing is very easy. Internet is available in all major villages, towns, cities of almost
every country. It is possible to surf through Internet with the help of internet browsers such as
Windows explorer, Google, Chrome, etc. The organization that provides the Internet service to
end-users is known as an Internet Services Providers (ISP). The key to success of Internet is
the information. Internet can be used to collect information from around the world. This
information could relate to education, medicine, literature, software, computers, business,
entertainment, friendship, tourism, and leisure. People can search for information by visiting the
home page of various search engines. All the newspapers, magazines and journals of the world



are available on the Internet. With the introduction of broadband and advanced mobile
telecommunication technologies such as 3G (third generation) and 4G (fourth generation), the
speed of internet service has increased tremendously. A person can get the latest news about
the world in a matter of few seconds. Internet has given the most exciting mode of
communication to all. We can send an E-mail (the short form of Electronic Mailing System) to all
the corners of the world. There are many chatting software that can be used to send and receive
real-time messages over the internet. We can chat with our friend and relatives using any one of
the chatting software. People can connect with old friends on social networking sites. They can
even chat with them when they are online. Social networking sites also allow us to share
pictures with others. We can share pictures with our loved ones, while we are on a vacation.
People are even concluding business deals over these social networking sites./

gee W fIwRUT 95 IR 81 S U & 3% & It ugE 7iial, Hal 3R e}l # Suas 31 fasiw
THARR, T[T B 31 Feie TSR Bl Heg | Fe-ic # famur forar o gaar 81 Sra-Suaiaansi &t
$e3AC JaT &7 AT WIS B eI AT YSHaT (ISP) FEd @ | AT, e+ &1 Ihadl $1 Hoit g1 giar
WR Y YA THT B & AT Sexie &1 Wi foban o Joar 21 3 A e, fafesn, aifgw,
AIFEAUR, FHLY, AR, Ao, e, mwmﬁwﬁﬁmﬁﬁmﬁaﬁm%l?ﬁﬂﬁﬁm
@Wﬁﬁ%@wﬂﬂwwmﬁaﬁmmmél g & @it FHRER-u=, e Td sRAw
ge¥e R I 31 Hisds 3R I HiaTsd RuaR Mefifear 9 36 (st didh) oiv 46 (@A didh)
3T M A $exAe AaT &1 i § Area iy 33 g5 21 9T 9 U1 0 Adbs! 8 ghHar WR & wureR e awd
F1 $ee A Wt ) FaR 9 Taifte Qe A yem @1 81 79 g & e M s A d-aa
(AP AT ey 1 Jfdrcfiwon I Twd 1 ¥Q +3 AT Jvedur Iuasy § oFd e e &
TT Rud-ergw wexr 49 3R UT o I &1 g9 Bt oft Afdr Aitedur &1 Iuaht w3 orm i oik
TERAT | 97 $ TPHd 2 | G WA AeafdT Agel W o RA 6 A I I@d §1 37 SAi-ars
B W 3 39 gTadtd W $R Thd ¢ | IR Aeafdh T aIse gl gunl & a1y o amgn w3 3t giaen o
T 21 9 ZH W BN F IR 3= et & A1y R Qe # God &1 A df 39 QA Aedih T drgel
R e i ft w3 3 2

How can the people connect with old friends?/ @I E?ﬁ i @ & s IHhd 82
1. Social networking sites/ I Aeafhi ;ns?r I

2. Social teaching site/ Trerd AT ‘vTIs?f T

3. Social learning site/ e AT ?ﬂ%ﬁ J

4. All of the above/ G“CPQIT:H vt

Correct Answer :-

« Social networking sites/ TIIA Hedfdh T TZgel o

7) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁIi"\’l: fFrrafeafad e
P AFYED UgH 39& -1 33 T4 sgfamadt w=at # Odt fowew &1 997 31

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new



discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

TUTER-UF AHG-1fd & gur B9 & faseprR & A1y far gad #gH ik Iwaifl SusR 81 quER-
U3 fqd B SN &1 | T 3@l 31 98 I g1 B gersi & IR § giad @l 31 98 599 Bl
3w B1 Ug U AfRIRITeN SRR ATeaw 3R U TR 968 1 98 Tod BT WP 3R AHAUSRI
Td ad-adl 3T W8St 81 39 3 B1d F forg ot v foran o wovar @ ok R ol & g oft1 g famm) &1
P 81 g8 faary, Rrgr, 39 W &1 Tft fewforat & Barar 8, WeRI, @ ik 3991 nfafafRay

Fdl g1 U S PT UP RIS 3aqd g1 I8! R ¢ fF ag o1 &1 Wadr 81| JHER-
T R e Sita &1 AT ST 991 g% §1 TUER-UT g gUR W SR fdmi F aR A it ek &
TUTER a1 8 | GHTER-U T UTe® JTdei-1e ATHA & TUS § IgaT 8 | HTER-UF J9 &1 &3 rarsi o
I Riféra wear g 3R I T IR FIATE Yo HaT 3 | THER-UF U I 7 1 fAp™ ghar 81 399 g0
Tt T} Gt SR SfIsHRI & IR T o9 TFHd &1 T8 59 gUR ATUGRI 3R ITH! GRam FA Ft §
96 IR | W Ia1a1 81 399 79 W 33-9¢ Wt oI 9avd ¢ % g | w1 g ¥eT 31 HHeR-uA ann &Y
g & @ift fafis i1 @ awd & wadr g1 R st axgett @t faw! gem & e saeR-w o
famTo 34 €1 9 THER-wE # e @ Rl gl 8, s il #Y fafte el 7 avget & ge
THIAH WA § Heg e 81 TueR-ux aifife faua, @), wanei vd wita & ar # R IR @A 3
3R Y F1 3mare Wt RpiS Fear 81 FAR-UF &1 Fafia ure s ardwfe el & IR § &) 9RT 94
Sifola T Tar 8 1| THRR- 7 AR ok qRife! & faar s90 a@ @ §1 3 ST ud & PR a8
3R 3 ufafafraa wa €1

What was invented with the help of printing machine?/ gur =i ot Jeradn 3 fraeT snfaserR
forar mar ur?

1. Radio/ 3f&dt

2. Television/ <aiifdeT

3. Newspaper/ JHRIR-UA

4. All of the above/Iuad It

Correct Answer :-

» Newspaper/ HRR-UA

8) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAuferfad wei=r
P! ATYAP TP 9P - fed T4 agfawed] w=al & 9gl fawew &1 994 +¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of



information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTIR-UF ATHG-S1fd B GEo1 9049 & nfaspR & a1y frar aa 7e iR Suahfl SueRR 31 WHER-
3 aafed Y IuAft & A SR T@dn 31 98 S99 g @l geTe & IR A gRia vadr 81 98 599 Fel
3 81 98 U fFa=imell SH¥UR A1ead 3R U AfRIRITeN 9 81 98 T BT WP 3N AFATRIBRI
Td ool &1 U8t 81 39 o did & g off vt faran = weran B ok ¥ ol & forw oft) o fami &1
e 81 g8 fauary, Rigr, 39 W &1 Tft fewfora) & Barar 8, WeRY, @ ik 391 nfafaftay
TG IEAT SRl g1 98 S-Hd DT Ueh YfRIITel 3/aud g1 98! PRI ¢ P I8 ST 31 Wddl ¢ | GHER-
U3 gUR e Sitaet &7 Sifid 3T 991 g &1 THAR-UF 6 gUR W 3R fgxi F IR Al R &
TUTER 34T 8| HTEIR-TS T UIe® Jrdei-e ATHA & U § Igdl 8| JHER-UT J9 &1 &3 rarsi o
3 Rfera wvar g ok 39 &R IR FIAE UM Hedl 8 | GHER-UF UeA & I &1 fasT giar 31 59 g9
T Tt Tieil SR SMfAPRY & TR W o9 Thd &1 T8 g0 guI SRBRI 3R ST JRa&m HA w31 @
U6 IR | W Ta1aT 81 399 79 W 33-9¢ Wt 9 wand ¢ % gt | w1 gt ve1 31 HHeR-uA |nn &Y
g & it fafle i 3 Wk | vwaar 81 AR sroet axgel 3t fawt sem & o samemR-wE |
fome= 3 €1 9% FER-wE # e o1 R g 8, sue sraial &) fafte e | avgel & qe
THIUH T A Heg fad 31 JureR-ux urfife faway, @e, wansi vd wifta & IR ¥ % 9t g &a
& 3R Wy Tt armare +ft RP1S T 31 FHAR-vA F1 fFafie urew Ardei-re ardl & R § & 9R1 91
3fld H TPl 81| THER-UF HeH farR®! 3R eRifAel & faur g0 9@ @ €1 3 5H9d & 3TPR 3 &
3R I ufafafraa #a €1

What is newspaper said to be?/ HHRIR-UA &1 T HgT STl ??
1. A powerful media/ U RIfa=rel Aeqd

2. A useless media/ T S{JUTNT q1eqH
3. A boring media/ T& RY T1AH
4. All of the above/ Judad Tt

Correct Answer :-

« A powerful media/ T& ifaa=Ielt Ao

9) DIRECTIONS: Read the passage and answer the questions that follow./fd=r: fAaferfad wei=r
P! ATYAP TP 9P - fed T agfawed] u=al & 9l fawew &1 994 +¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of



information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTIR-UF ATHG-S1fd B GEo1 9049 & nfaspR & a1y frar aa 7e iR Suahfl SueRR 31 WHER-
3 aafed Y IuAft & A SR T@dT 81 98 S99 g ) geATe & IR A gRia vadr 81 98 399 Fel
e 81 98 Ud fFa=Imell SH¥UR A1ead 3R U AfRIRITeN 9 81 98 T BT WP 3N AFATRIBRI
Td ool &1 U8t 81 39 o o & g off v faran = weran B ok ¥ il & forw oft) o faml 1
E® g1 Ug far, Rigrl, 39 W 3t i} fewfdra &1 Hramar 8, WaRY, @bl iR 391 nfafaftry #
TG IEAT SRl g1 98 S-Hd DT Ueh YfRIITel 3/aud g1 98! PRI ¢ P I8 ST 31 Wddl ¢ | GHER-
U3 gUR @ Sitae &7 Sifid 3T 991 g% &1 THAR-UF g9 gUR W 3R fxi F IR A R &
TUTER 341 8 | HER-TS $T UIe® Jrdei-c ATHA & TUd H Igdl 8| JHER-UT J9 &1 &3 rarsi d
3 Rfera Hvar g ok 39 R IR FIANE UM Hedl 8 | FHER-UF UeA & I &1 fasT gidr 31 59 g9
Tt Tt Eiell 3R S RY & IR o o9 Thd &1 T8 9 gUR SRPRT 3 I7HT Ja 4 H1 8
U6 IR | W Ia1a1 81 399 79 W 33-9¢ Wt 9 wand ¢ % gt ° w1 g ve1 31 HHeR-uA |nn &Y
gt & it fafim i 3 Wk | vaar 81 AR sroet axge 3t fawt sem & o samemR-wE |
fome= ¢ €1 9 TER-uE A e o1 R g 8, sue srarial @1 fafte el | avgel & qe
THIU T A Heg fad 31 JureR-ux utfife faway, @e, wansi vd wifta & IR ¥ % 9t g &a
& 3R Wy 3t T +ft RP1S T 31 FHAR-vA F1 fFafie urew Ardi-re ard & R § & 9R1 91
3fld H TPl 81| THER-UF HeH farR®! 3R eRifAel & faur g0 9@ @ €1 3 5H9d & 3TPR 3 &
3R I ufafafraa #a €1

JONAR-UF T AR &

Newspaper is a vehicle of

1. Picture/ fU=R

2. Thought/ faaR

3. Money/ 44

4. All of the above/Iuad It

Correct Answer :-

« Thought/ fdaR

10) DIRECTIONS: Read the passage and answer the questions that follow./fadsr: fRuafefad
TN $ ATYAP UgHT 39> - fed T agfaswed] w=al & 98l fawew &1 a4 +¥|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of newspapers remains in touch with public affairs. The
newspaper educates him in many branches of knowledge and provides him with a lot of



information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

TUTER-U AHA-S1fd & g1 709 & fasepR & A1y firer gad #gM 3R Iuahfl SusR 81 quER-
T aafed Y IuAft & | SR T@dT 31 98 S99 g @) geAre & IR A gRia vadr 81 98 59 Fel
3w 31 U8 TP AfRIRTeN SHUTUR ATeaH 3R U AR 9 81 I8 T BT WP 3N AHa USRI
Tq TWa-adl &1 U8t 81 39 o drd & g off v faran < weran B ok ¥ ol & forw oft) o fami &1
P 81 g8 fauary, Rrgr, 39 W &1 Tft fewfora) & barar 8, WeRI, @ ik 3991 nfafaftay
TG IEAT Bl ¢ 1 98 S-Hd DT Ueh YfRIITel 3/aud g1 98! PRI ¢ P I8 ST 1 Wddl ¢ | GHER-
U3 gUR @ Sitae &7 Sifid 3T 991 g% &1 THAR-UF g9 gUR W 3R fxi F IR A R &
TUTER 341 8 | HER-TS $T UIe® Jrdei-1e ATHA & TUd H Igdl 8| HER-UT J9 &1 &3 rarsi o
I Riféra wear g iR 3/ T IR FIATE U™ HaT 8 | HER-UF UgA | 7 $1 b ghar 81 399 gH
Tt Tt Eiell 3R SRl & IR o o9 9hd &1 T8 9 gUR SRPRT 3 I7HT Ja 4 H1 8
U6 IR | W Ia1aT 81 399 79 W 33-9¢ Wt oI wwnd ¢ % gt o w1 gt ve1 31 HeR-uA | Y
gt & it fafie i 3 Wk | vaar 81 @R st axge 3t fawt sem & o saemR-wE |
fome= 3 €1 9% TER-wE A e o1 R g 8, sue srariva @1 fafte el | avgel & ge
THIUH T A Heg fad 31 JureR-ux utfife faway, @e, wansi vd wifta & ar & % 9t g &a
& 3R 1y 3t armare +ft RP1S T 31 FHAR-vA F1 fFafi urew Ardi-re ardl & R § & 9R1 91
3fld H TP 81| THER-UF HeH faR®! 3R eRifAe! & fauR g0 9@ @ €1 3 5H9d 3 PR 3 &
3R 39 ufefafraa #wa g1

The reader of newspaper remains in touch with : [ JHTRIR-U3] &1 U6 H ¥ Ty o
B e

1. Peoples affairs/ A & A

2. Public affairs/ Grdwifes HH

3. Parties affairs/ UIfédl & Hel

4. None of the above/STRIad & § IS Tal

Correct Answer :-

« Public affairs/ gTdeid HHA!

11) DIRECTIONS: Read the passage and answer the questions that follow./f32r: fFafefad
TR Y AFYdD UgdhR 3P - fad T4 agfawed! u=l # 9l faweu &1 9= B3|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of nhewspapers remains in touch with public affairs. The



newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTEIR-UF ATHA-S1fd B GEur 9049 & nfaspR & a1y frar g 7e ik Suahfl SueR 81 JHER-
U e Y ITANT & | R Gl ¢ | I8 S g1 Bl geTe & IR A Giud ¥Edl 81 9§ 599 Bl
3 81 98 Uw fRI=Imell SHYTUR A1ead 3R U TRl 9 81 U8 U BT WP 3R AFATRIGRI
Tq TWa-adl &1 U8l 81 39 3 $id & g off v faran o weran 3 SR ¥ &l & forw oft) as famr) &1
e 81 g8 far), Rigr, 39 W 31 Tt fewfora) & $arar 8, WeRI, @ 3R 3991 nfafaftay 1
TUTAAT HIdT 3| g S9d HT TP R 3aUd g1 Tgt PRI ¢ f5 a8 a1 1 Wadl 8 | GHER-
= gUR 1 Sita &1 il ST 91 g &1 WuaR-uw g6 gui 3w ok faew & AR # Wit veR &
TYHRER A1 8 | FHER-T3] BT UIe® JTaui—e ATHA! & Jud § Igd1 &1 JHRER-UT J19 31 $ rarsi &
I Riféra wvar g iR I & ART FEATE Y HaT 8 | THER-UF UeA I 99 $T faH™ giar 81 399 g0
W Tt Tieil SR SMfAPRY & TR W o Thd &1 T8 g0 gH SRBRI 3R SAHT JR&m $A &3 @
9® IR § o TaTaT 81 S 59 W 33-94¢ ff 9 Fwvd ¢ o gitrar |« 71 e 81 SHeR-uE 9 &t
g & Wl fafie S 3 Wk & vaar 81 @R sroet axg et 3t faet em ¥ o waremR-wEt o
faqTo= <l €1 9 SHR-uEl § 99R @1 Rl gt §, S99 craiial o fafie e’ | avgei & g
THIAH WA § Ueg e 81 JueR-ux aifife faud, @, sanei vd wita & ar § 3 IRl @A ¢
& R Y F1 31are Wt RP1S Fear 31 FAR-UF &1 Frafia ure s e el & 9R § e 9RT 94
3ffd #X TF T 8| THRR-TF A faR®! iR erifAe! & fur a0 9@ @ &1 3 SHHd &1 PR 3a ©
3R 39 ufafafa s B

What do businessmen advertise on newspaper?/ YR THRER-UT § fhgeT ﬁ?ITEF-T %?f %”
1. Their news/ 3T AR BT

2. Their views/ 3 faaRy &1

3. Their attitudes/ 319 3T &1

4. Their goods/ 3T a¥g3ff &1

Correct Answer :-

« Their goods/ 3Tt a¥3fl &1

12) DIRECTIONS: Read the passage and answer the questions that follow./f3=r: fFafefeq
TR Y AFYdD UgdhR 3P - fad T4 agfawed! u=l # 9l faweu &1 9= B3|

Newspaper is the greatest and the most useful gift received by man with the invention of the
printing machine. A newspaper keeps a man usefully busy. It keeps him in touch with all that is
happening in the world. Itis much more than that. It is a powerful mass-media and a mighty
force. It is the custodian of truth and a sentinel of human rights and liberty. It can be used for
good as well as for evil. It is a vehicle of thought. It propagates ideas and philosophies,
comments upon them, criticizes governments and peoples and their activities. It is a powerful
organ to public opinion. That is why the freedom to the masses. Newspapers have become a
part and parcel of our daily life. A newspaper gives us all kinds of news about our own country
and about foreign countries. A reader of nhewspapers remains in touch with public affairs. The



newspaper educates him in many branches of knowledge and provides him with a lot of
information. Knowledge is developed by reading a newspaper. One can know about all the new
discoveries and inventions. It also tells what their rights are how they can protect them. Even
while sitting in one’s home, one can know what is happening in the world. The newspaper keeps
the people in touch with all the different corners of the world. Businessmen advertise their
goods in the newspapers to increase the sale of their goods. As the newspapers contains market
reports it, helps the merchants in keeping uniform rates of goods in various cities. Newspapers
give a lot of information about religious topics, sports, arts and music and record the plus beats
of the nation. A regular reader of newspapers can acquire a lot of knowledge about public
affairs. The newspaper brings to us the views of great thinkers and philosophers. It moulds and
reflects public opinion./

THTEIR-UF ATHA-S1fd &) GEur 9049 & nfaspR & Ay frar g 7e ik Suahfl SueR 81 JHER-
U T Y IR &1 | SR 7@l ¢ | I8 S g1 Bl geHTe & IR A Fiud vEdl 81 98 599 Bl
3 81 98 Ue fRI=ITell SHYTR A1ead 3R U TRl 9 81 U8 U BT WP 3N AFATRISGRI
Tq TWa-adl &1 U8l 81 39 3 $id & g off v faran o weran 3 SR ¥ &l & forw oft) as famr) &1
e 81 g8 far), Rigr, 39 W 31 Tt fewfora) & $arar 8, WeRI, @ 3R 3991 nfafaftay 1
THIATEHT Hdl 8| I8 S Hd $T TP TR 3aud 81 g FRUI § {5 g S a1 &1 Taa-adT 8 | JHER-
T gUR 1 Sita &1 i ST 991 g% &1 WuaR-uw gH gui 3w ok fadw & an # Wit veR &
TYHRER A1 8 | GHER-T3] BT UIe® JIaui—e ATAA! & Jud § Igd1 &1 JHRER-UT J19 31 $3 rarsi &
I Riféra e g i I & ART FEATE Y™ HaT 8 | THER-UF UgA I 9 $1 fah™ giar 81 399 gH
W Tt Tieil SR AR & TR § o Thd &1 T8 g0 gHI SARIBRI 3R IS JR&T $A S @
9F IR § o TaTaT 81 S 59 W 33-94¢ ff 9 Fwvd ¢ o gitrar | w71 e 81 SHeR-uE 9 &t
g & Wl fafie Y 3 wods & waar 81 @i sroet axg e 3t fast em & o waremR-wEt o
faqTo= ¢l €1 9 SHR-uEl § 99R @1 RUid gt §, S99 craiial o faftie e’ | avgei & e
THIAH WA A Heg e 81 JueR-ux aifife faud, @, wanei vd wita & ar § 3 IRt @A ¢
& R Y F1 31are Wt RIS Fear 31 FAR-UF &1 Frafia ure s e areal & 9R § e 9RT 94
3ffd #X TP 8| THRR-TF A fIaR®! 3R erifAe! & fauR a0 9% @ &1 3 SHHd &1 PR 3a ©
3R 39 ufafafa s 81

Newspapers give a lot of information about religious topics and /[ HHHR-9A urfife fawal
3R & IR § T I gEEIC A §:

1. Sports/ Wd%Ha

2. Arts / 3ET

3. Music/ T

4, All of the above/B'CPQ[HH it

Correct Answer :-

« All of the above/3udad Tt

Topic:- Grad_Child Care and Education

1) Special teaching methods, special materials for teaching and specially
designed classrooms or playrooms are used to meet the unique needs of an

exception child through:/ f&a¥ faRiv fRrervr ugfaai, favy Rigror armfBai ik faRiw
TR A S5 B 15 Hemt a1 Ia we Bt = 9= ot Sifgdiy smavadant gt s+
¥ fere It fpu wra &

1. Compulsory Education/ 3ifaard fer



2. Special education/ fa=y fRem
3. International Education/ 3faRTSTa fRief
4. None of the above / Gqﬁaaﬁﬁaﬁéqé’f

Correct Answer :-

« Special education/ fa= f2rem

2) If you stroke the corner of the new-born’s mouth, her head turns towards
the corner you are stroking, she opens her lips, puts out her tongue and tries
to take the objects in her mouth to suck, the baby is exhibiting:/ If¢ 3mq
qauTd & Hg & 1 # TWIH B, ) ITPT R IR 3 o1aT 8 R 30 WK $R I8 8, 98
3T g5 WiadT 8, U1 S JTex FIdTaar 8 SR avg &t 33 Gg § & 9 &1 W $Hvdl &
a1 o T, Ry 7 welRfa wwar :

1. Moro reflex/ ARI ufdad

2. Babinski reflex/ sfep! ufdad
3. Grasping reflex/ T8l Ufaad

4. Rooting reflex/ q@aﬁruﬁaﬁ

Correct Answer :-

« Rooting reflex/ @@ ufdad

3) Which among the following is a type of Learning disability?/ fad A=,
SfATH f1:=1eadT &1 TP PR 32

1. Dyslexia/ fegafaaar
2. Dysgraphia/ f&gumithar

3. Dyscalculia/ %ﬂ%v?g:"m
4. All of the above/ IWRlad g+t

Correct Answer :-

« All of the above/ SWRIad Tt

4) The sex of the foetus can be determined by the end of:/ g9 smf%r%m
yureT o gra fpar o awar @

1.2 months/ZII?ﬁ
2.3 months/BII%ﬁer
3.4 months/4ﬂ€ﬁ



4.5 months/SII'éﬁ

Correct Answer :-

« 3 months/3 Il'éﬁ

5) Which among the following is not a principle through which the Juvenile
Justice Act, the Central / State Government and other agencies are guided
while implementing the Act of care and protection of children?/ T B SGHTA
3R TR & ST foparf-aa wd Twg feez =g sifufam, FaR~a TReR 9 3.
TSRyl 1 ARieri @A aren e & & o4 Rigia T8 82

1. Principle of presumption that the child is guilty of committing an offence/ ¥4
qAHT=dT &1 Rigid {6 S=a1 H1s 3OR1Y H-A o1 i 8

2. Principle of dignity and worth/ TRHT 3R argar &1 Rigid
3. Principle of best interest/ aiad f&d &1 Rigid
4. Principle of fresh start/ =18 J&3Md &1 Rigid

Correct Answer :-

« Principle of presumption that the child is guilty of committing an offence/ 9

TAATIdT &1 RIgid [ o= B8 U1y H= BT el §

6) Which period lasts from fertilization until the time the zygote is firmly
implanted in the wall of the uterus?/ 1 Wt rafy fA== | URY giHR T &
Ui F AR R Yehtvifa s 9F 9@ wdt @2

1. Period of Ovum/ 3{STY] @iy
2. Period of Embryo/ U1 3{af¥

3. Period of Foetus/ T 31af¥
4. None of the above/ SWRIad # J ®Is gl

Correct Answer :-
« Period of Ovum/ 37 3fafyy

7) Which among the following Act prohibits the engagement of children in all
occupations and prohibits the engagement of adolescents in hazardous

occupations?/ g & @ 914 sifuf~raw, v soaamal & o= 3! A fore wR &1
Yy $=aT 8 3R WavaTe saaaTal A frRl & Ao e A &1 Ay wdar 82

1. Juvenile Justice Act/ fFIR =ara sifdfAgH
2. The Child Labour (Prohibition and Regulation) Act/ aTd %1 (MY Td e sifafaay
3. Immoral Traffic Prevention Act/ 3[fae IR ARye sifafras



4. Guardians and Wards Act/ I%&® Ud Ufdured sifafaay

Correct Answer :-

« The Child Labour (Prohibition and Regulation) Act/ STd % (Fvy Td fae) siffaw

8) Which among the following is a step in the process of socialization?/ fad

T P, GHTSITHRUT Ufehar &1 U TRUT 82
1. Learning to play approved social roles/ WWW%MW

2. Learning to behave in socially approved ways/ TS U 9 &ﬂﬁﬁﬁdé\lm\f@[ AdgIR
DT UG

3. Development of social attitudes/ W%’f@?ﬁﬂﬁaﬂﬁw
4. All of the above/ IWRiad T+t

Correct Answer :-

« All of the above/ SWRIad Tt

9) Which of following includes the storage of specific information, skills and
strategies that people have acquired through experience?/ Fa# & foa#

fafRry e, el iR srd-ifeay &1 vesrRur aftrfia 8, s @b sgya & ureaw 3
3rfofa #ed 82

1. Understanding/ JeURIfGa/aH@aY
2. Fluid Intelligence/ dRaATfaRiTd ST

3. Crystallized intelligence/ foh¥cdiidrd ML
4. None of the above/ SR H I orﬁéﬂ'eﬁ

Correct Answer :-

« Fluid Intelligence/ TRAATIRI SIRHAT

10) Which among the following statements emphasizes the need and
significance of preschool education in India?/ faddesaar DY, ‘I-ITTcIﬁFQ'_cT-
ud e $ smazgedr iR et R 99 3d1 82

1. Many mothers being themselves uneducated are not aware about the sound
practices of bringing up children, hence pre-school education helps/ 3% HIAE &Y

R B & SR ] B Urer BT IFrd ARl & oA §, srdud Wpa-ud e 985 g

2. The rate of development is so rapid in pre-school years that child can be given

more and more experiences/ Wqﬁaﬁﬁﬁmam?ﬁaaﬁ%ﬁ?aﬁaﬁm
3Hd feu o1 ¥ d |



3. There is tremendous wastage and stagnation in India in a Class I and II which can
be prevented through Nursery school education/ R H H&T 1 3R 2 H siafeies sadfan
3T 3R 3G Bl & o T T a e gRT Ah1 o1 Yhar 3|

4. All of the above/ IWRIad g+t

Correct Answer :-

« All of the above/ IURiad g

11) The stage of learning in which the individual while performing a task
need not even think about various aspects of the task to be performed as
the task becomes self-regulated and is performed with ease, is known as:/

ST (AE=) &1 98 IRT FoTaH B B B a1d Afad &I f6T 914 ard $1d & fafay
Tegsil W far w1 o Y smazaear 78 gidt wife w1 a-fFrafia g omar 8 ik et
¥ fpar wirar &, Fgarda 8

1. Cognitive stage/ SUTHD TR
2. Association stage/ HgdNT&d TRUI
3. Automation stage/ ¥l =RUI

4. Realistic stage/ gyrfardl =RuT

Correct Answer :-

« Automation stage/ ¥XddTdH RO

12) Functions common to the race such as creeping, crawling, sitting and
walking are known as:/ USTfd & AT YT SR fop W1, IRBAT, 98471 3R T 1,
TY Y H O 91 &

1. Ontogenetic functions/ Tfaaaxig B
2. Phylogenetic functions/ Gﬁ@?ﬂﬁm
3. Onward genetic functions/ JATfa=Ie ARG ST
4. Organoleptic functions/ 3feg orgt s

Correct Answer :-

« Phylogenetic functions/ STTfdg<ita &1d

13) The headquarter of UNICEF is situated at:/ If-R% &1 &Iy R 3
1. Paris/ UR®

2. Switzerland / ResRds

3. New York/ QICF%



4. Munich/ TI[9
Correct Answer :-

« New York/ =i

14) The Right of Children to Free and Compulsory Education Act was enacted
in the year./ 9= & for¢ f:3[e® SR aifvrard fRrem &1 SR srftiferaw fvw ad g faean
T

1. 1980
2. 1990
3. 2009

4. 2014

Correct Answer :-

« 2009

15) Sudden perception of relationship between the learner, the goal and the
intervening obstacle is termed as:/ ﬁzr&rr%ﬁ, a&usﬁvmauawﬁwﬁwasaﬂa
ATH P HaY 1Y, Hgard &:

1. Imitation/ 30

2. Insight/ 3id=®

3. Intervention/ g&I&Y

4. Instrumentation/ JATHRUT

Correct Answer :-

« Insight/ Side®

16) Which psychologist gave emphasis to the role of culture and social
interactions in guiding cognitive development?/ muﬁ%ﬁm%aﬁw
e fdem o Swpfa ik arfore siafdharsi &t Yftrer w g« fear 82

1. Piaget/ oS

2. Vygotsky/ STt
3. Maslow/ AT

4. Kohlberg/ CANGU

Correct Answer :-

« Vygotsky/ STewmt



17) Which among the following period of development is characterized by
developing school readiness skills and most free time is spent playing with

friends?/ 9 & @ 314 faery srafy 3t fafkmyar gg 8 fo w@a g durt o= i g
& ok srftrepiar @relt Wy i & 1y Wa § oa<dia giar 82

1. Infancy/ BRI
2. Early childhood/ 3RIY® STeaTa=yT
3. Middle childhood/ HH dlcdTdRYT

4. Late childhood/ 3R dlcdTdRT

Correct Answer :-

« Early childhood/ 3R STyl

18) Nutrition and health education, under the ICDS scheme is provided to:/

ITEASITT F sfata urvor 3R TaTRa & ver 3t & &

1. Children in the age group of 3—6years/3—63ﬁ&@ﬂﬁ€a¥ﬁaﬁ

2. Unemployed youth/ aﬂwgmﬁaﬁ

3. Women in the age group of 15-45 years/15-45 Y 3T YHg &1 AT I
4. All men/ 94t &N &1

Correct Answer :-

« Women in the age group of 15-45 years/15-45 dY 31 YHE ! Al ol

19) Which among the following are powerful chemical substances secreted
by the endocrine glands and carried through the body by the bloodstream?/

& @ o9, 3ia: Jrdt JFE gRT wifad Afda=me Iramafe ugrd g o R varg grRT
TR A ufvag= far wrar 22

1. Genes/ SiiF

2. Chromosomes/ UL
3. Hormones/ BTHM
4.DNA/ SLTHT

Correct Answer :-

« Hormones/ BTJIIT:{

20) Four main areas stated by ‘The Convention on The Rights of the Child’

includes right to:/ 'aTa 3R GRTE & IR IR q=7 &3 # Fru srfrer =nfre @



[a W e\ o

1. Survival, Development, Protection and Participation/ 3dXu{[Iddl, TdhTd, TRET 3R

g HTRTAT
2. Survival, Entertainment, Protection and Care/ SAReHIdT, ARG, TRETT 3R STHTA
3. Survival, Care, Nurturance and Love/ G?I?Trﬁﬁ?ﬂ, é@ﬂﬂﬂ, TTa-0Iy 0T 3R O
4. Survival, Care, Protection and Play/ STRSIfIdl, ST, TREIUT 3R B

Correct Answer :-

. Survival, Development, Protection and Participation/ STRelfadl, fawTy, W&o 3R
HEHTHTCT

21) HIV stands for:/ T3Sl (HIV) &7 3 &:

1. Human Immunodeficiency Virus/ Wsﬂfﬁmm
2. Human Infectious Virus/ WW&HW

3. Highly Infectious Virus/ HESIERICOE RIS

4. High Intensity Virus/ 8T8 §ciic! aRRY

Correct Answer :-

« Human Immunodeficiency Virus/ W%ﬂﬁmm

22) Which among the following scheme provides scholarships to persons
with disabilities to pursue higher education such as MPhil and PhD?/ faada
DI Il Fiorn, ezl # tafra ok Huadt SRt 3= e ure e+ & foe seghmi
Ward $d! 82

1. Scheme of National Scholarship for Persons with Disabilities/ ﬁr:sraaau%ﬁr%g

EIECINEIREIRIEE]

2. Comprehensive Education Scheme for Disabled Children/ fA:=dd sl 8 99 fRraf
GroT

3. Rajiv Gandhi Fellowship Scheme/ ITsitd el {&Adrgi Ao

4. Inclusive Education for the Disabled at Secondary Stage/ mwfﬁa?wmﬁrzmaa‘f%g
BEICRIRRE]

Correct Answer :-

« Rajiv Gandhi Fellowship Scheme/ 3TSita gl Sredrgfi Aol
23) The full form of CARE is:/ %3 (CARE) &T [T 91 &:

1. Cooperative of Always Rendering in Emergencies/ ®13{Tafca 31t 3ficdsl S8 g9

ECEEE



2. Cooperative for Assistance and Relief Everywhere/ ®I3Rfed Bk 3Ry U3 Ralw

CI N

3. Consulting Agency for Relief Everywhere/ &dfecdT Toidt HiIR Kol TR
4. Consulting Agency for Recreation to Everyone/ $afect Tolkil ik RfghTRA ¢ TdtaA

Correct Answer :-

. Cooperative for Assistance and Relief Everywhere/ ®13ilaRfcd BIR RRCY U8 el

24) Reflexes, Primary, Secondary, Tertiary Circular reactions and Early
representational thoughts are sub stage of which stage of Piaget’s theory:/

ufarad, wuftre, fgdtas, gdtae gxfta ufafrart v smfire ufafaifta feR, o=t &
frgid & 59 TR & TR §:

1. Sensorimotor stage/ IAGT/AAEIIRS TR0
2. Preoperational stage/ EENIWWW

3. Concrete operational stage/ ﬂjf{-ilraoqlmdo IR

4. Formal operational stage/ 3NU=TR® Afharets TRUT

Correct Answer :-

« Sensorimotor stage/ RIRIER R CIAIRE R

25) A congenital midline defect resulting from failure of the bony spinal

column to close completely is known as:/ 3Ry A=Y & YUId: §¢ g4 A fawear
¥ I TCTd AW IV, HgardT 8:

1. Cerebral palsy/ UHRTSH SRTETT (IS UTRIT)

2. Spina Bifida/ HERo] &1 g8 H Tl (WS ST3fthe)

3. Cerebro-Spinal injury/ WWG@J(@WW $1dlc
4. None of the above/ SWRIdd H ¥ 5 Aa!

Correct Answer :-

. Spina Bifida/ TS| 1 ggal § dIT (TTAT d13fthel)

26) Muscular dystrophy, Arthritis, Club foot, Cleft palate are examples of:/
TR fewerwl, smiRsfew, o pe, Fwe e anfe frad Iarevur

1. Neurological impairments/ &g sguary
2. Visually impairment/ g Tt srymefarg
3. Musculo-skeletal conditions/ UXI-GdTeNg 3RFAaTg



4. Hearing and speech impairment/ %0 Td aT& 3RTHATY

Correct Answer :-

. Musculo-skeletal conditions/ UG-G ahTeid gHAATT

27) Three R’s in pre-school education stands for:/ W{-qﬁﬁr&n & i 3R (R) &I
Gf?f%

1. Reading, Writing and Arithmetic / Ug-I, forgmT 3R TIforg
2. Reading, Recitation, Reaction/ Ugl, AR AT, gfafear
3. Reading, Racing and Resting/ U&T, GieT, faym &

4. Reading, Recitation and Recreation/ T, Qg 3R HARSH

Correct Answer :-

« Reading, Writing and Arithmetic / Ue-T, foRaT 3R 7T

28) Artificial replacement for a missing body part is known as:/ IR & f&dt
SJURRIA 37T BT FAA TIRIYVT, HETdT &:

1. Prosthesis/ Uiy
2. Orthosis/ 3R

3. Adaptive device/ Wgﬁ
4. None of these/ Eﬁ@f&ﬁ'ﬁ“@

Correct Answer :-

e Prosthesis/ Uiy

29) Microsystem, Mesosystem, Exosystem, Macrosystem and Chronosystem

are parts of the theory propounded by / GO, WeAYOITe!, SfgUomTe!, gggyuomme
3R el yomrel foraes gRT ufararfed Rigia & YT &:

1. Maslow/ T

2. Vygotsky/ Scd!

3. Bronfenbrenner/ sH®GsR
4. Piaget/ s

Correct Answer :-

« Bronfenbrenner/ THBASR



30) Which method makes an in-depth analysis of a client:/ ®9 ¥l Ugfa, FTSC
BT T faxawor ! &

1. Observation/ e
2. Questionnaire/ PRGN

3. Interview/ HI&Tch R

4. Case-Study/ UHU[ HT A&

Correct Answer :-

« Case-Study/ UHU HT A&
31) CANCELLED

Which among the following is the objective of ICDS Scheme?/ fFg & d 31,

AT W1 HT I 7TE 82

1. To improve the nutritional and health status of children in the age group of 0-6

years/0-6 T4 3T YHE & =i & UINU] U9 W TR H YUR FHAT

2. To lay the foundation for proper psychological, physical and social development of
the child/ = & TYRId AAIaTIA®, ARG 3R Irrfoie faem &1 snurR A s

3. To reduce the incidence of mortality, morbidity, malnutrition and school droup out/

TRUIAdT, §g-ax, UV, TUT T SIS B & | HH! HIAT
4. All of the above/ IWRlad I+t

Correct Answer :-

« All of the above/ SWRIad gt

32) Which among the following statements is False?/ g o ¥ F9 91 FYF AT

2

1. An impairment may or may not lead to a disability/ AT & HRUT - 1 a1 T8
HEELI

2. A disability may or may not result in a handicap/ f:Xaddl & HRUT faH T 81 A1 ol
g Tl |

3. A person whose body is not normal also has a mind that is not normal/ 3T &fad

RIgeT TRR IHEF T 81, 96T AfTs Ht gra=g 8! gidT|

4. A disabled person may be handicapped in some areas/situations, but not in others/

Dl (:3ed fad F© a=aifRufadl # fawar g vwdr § afe s =1

Correct Answer :-

« A person whose body is not normal also has a mind that is not normal/ o Afad

ORI IRR G A 81, I9&T aiass H 9= T8t sidl



33) Which among the following Ministry has the overall responsibility of

monitoring the ICDS scheme?/ g9 9 forg damaa & urg mﬁﬁﬁﬁ
R &1 9w el 82

1. Ministry of Women and Child Development/ Hfgdl Td a1d faerg Hared
2. Ministry of Child Development/ HFd I91¢ famrg Hare™
3. Ministry of Health and Family Welfare/ WY Ud URAR &HedT0l HATH

4. Ministry of Social Justice and Empowerment/ JTHIfSI® <a1g Td HfUHTIRAT HaTe™

Correct Answer :-

« Ministry of Women and Child Development/ Afgdl Td aTd fasra Haed

34) Which among the following are critical for the development of

creativity?/ U & @ 11, IaATH®aT fawrT 8g eyl 82

1. 5 to 6 years when children are ready to enter school and they must learn to accept
authority and conform to the rules and regulations/5 ¥ 63&@3@%@%%&
TR BId & 3R 9 WISR T WHR ST adl ot g fafadi &1 qurgey uraq &1 9had & |

2.8 to 10 years when there is a desire to be accepted as a member of a gang/S@f 10

Y O A & I & ©U H Wighd fHU o @7 sresien gt g |

3. 13 to 15 years when children are striving for peer approval, especially from

members of opposite sex/ 139 15 EAECEE RIREIE G@:ﬁ?{, IRy faudia fefr arat
Tl § SIHIG 3 Y Hd g

4. All of the above/ IWRIad gt

Correct Answer :-

« All of the above/ IuRlad g

35) Children begin to develop an understanding of themselves as separate
and distinct from the environment, causality, time and space in which stage
of cognitive development?/ SiUTH® faHTa & fvd @1 & T= waiawul, HRUMET, 9T
3R ferwi A guw 3R faRRy wau &t gust fasfra o uRy #3239 82

1. Sensorimotor/ HddIUR®
2. Pre-operational/ Jd-dfsharéts

3. Concrete operational/ 319 Ifhards®

4. Formal operational/ 3fiu=ike Tfsaras

Correct Answer :-

« Sensorimotor/ TAdIURS



36) The sequence of elements constituting the process of learning is:/ 3t

g ufsear fture ol &1 %4 3:

1. The stimulus, the learner, and the response/ 3gdiud, fRrenlf, ik ufafsar
2. The learner, the stimulus and the response/ ﬁT&ﬂ?ﬁ, GE?.‘?FW 3R ufaferar
3. The response, the stimulus and the learner/ Dﬁm, BE_QPFW 3R fRremeff
4. The stimulus the response, and the learner/ 3gcud, Ufafshar, 3R fRremf

Correct Answer :-

« The learner, the stimulus and the response/ ﬁT&ﬂ?ﬁ, BEEPFW 3R ufafsran

37) Abnormal repetitions and prolongation of speech sounds occur in:/

ST TRIGRIAT 3R arep eaferat a1 Srefie<ul $d 3T
1. Stuttering/ gHEC

2. Cluttering/ farvaRo g

3. Distortion / foem

4. None of these/ 578 J ®Is Al

Correct Answer :-
« Stuttering/ 3P dlgc

38) One of the concept which is not developed during early childhood years

is:/ 98 SAURTN, S SMRFHP Tearawit & qul & g1 fawfa 81 et &:
1. Relative location/ 3fT0fare srafRufd

2. Relative size/ MUR® MHR

3. Classification/ giffesRul

4. Abstract Thinking/ 31113@?‘[

Correct Answer :-

« Abstract Thinking/ 3 I

39) According to which law of developmental direction, development spreads

from head to toe?/ fawrard® fo=n & frd fraw & SrgaR, faer RR & via 9@ faxqga
a1 8?

1. Cephalocaudal law/ ﬁ'ﬁv_cﬂ%ﬁﬁ'qﬂ



2. Proximodistal law/ UifagAIfsed fFaw
3. Patterned law/ O+ &1 fAom

4. Head and Toe Law/ RR ¥ uiq &1 fFgq

Correct Answer :-

. Cephalocaudal law/ Ritrargga fad

40) The concept people have of ‘who’ and ‘what’ they are, is known as:/

feTal Bt T B P R "R D ATYURCIN, Hgdrd! g
1. Self esteem/ ¥ UfamT
2. Real Self Concept/ dRdfd® W MGYRUN

3. Ideal Self Concept/ TR T YR

4. Social recognition/ TSI AT

Correct Answer :-

« Real Self Concept/ ARAfdPH T TR

41) The embryo begins to differentiate itself into three distinct layers known

as:/ YUT &4 & 1 fafRy wal & fanfea swar 8 <) sgardt €
1. Ectoderm, Mesoderm and Endoderm/ SIgdcddl, HESTIXR 3R 3SR
2. Microsystem, Mesosystem and Exosystem/ ﬁ&ﬂqvﬂ?ﬁ, HYUITCl, EIR IS

3. Pre conventional, Conventional and Post Conventional/ EEC Qﬁl?_#ld, M'E_#Id 3R TH

Ffed
4. Dermis, Epidermis and Endodermis/ ¥, STga@T (3ifer) 3R 3fawadn (3fdgyH)

Correct Answer :-

« Ectoderm, Mesoderm and Endoderm/ SIgdcddl, HESTIR 3R SfAoTER

42) Pre-schooler belongs to which stage of Kohlberg’s theory of morality?/

MNP (Fd 4d 31 F T=), Hraad] & Afaear & Rigia & foea wor J w&dfta 82
1. Morality by constraint/ Srear I Afaedr
2. Social system morality/ TSR YumTet Afaesdrn

3. Social contract or utility and individual rights/ g AT a1 IuTfirar 3R safdaTd
SHIYBR

4. Universal ethical principles/ JraHH Afas Rigid



Correct Answer :-

« Morality by constraint/ Srear I Afaedr

43) Article 19 of the UN Convention on Rights of the Child provides:/ H'QTR-RTg
TS TUPTR TN BT 3 TdS 19 FIT WTTUTH HT 8-

1. Scholarship to children with special needs/ fafR1y sfra=gedrsil ard s= &1 BEgHRI

2. Access to information and mass media for children/ aa“r%gwahqamawmmﬁr
d% Ugd

3. Protection to children from all types of violence, exploitation, neglect and abuse/

Tuft R P fer, Iafte, Iue 3R gedagR q sl &7 TREul

4. Freedom of association to children/ Sl 8q TG4 P Wil

Correct Answer :-

« Protection to children from all types of violence, exploitation, neglect and abuse/

Tuft R P fen, Iafte, Iue iR gedagR q sl o7 TREUl

44) Which among the following institute is situated at Dehradun?/ frafafaa A
q DI AT HRIH ¢grTg | YA g2

1. National Institute for the Visually Handicapped/ 1§10 ef¥afed faeei dwi

2. National Institute of Mental Health and Neuro Sciences (NIMHANS)/ TI@HIIWW
Wy Td dfET fagH TR (T3 TSuHTaE-ey)
3. National Institute for Physically Handicapped/ IS YRR fasraiv T

4. National Institute for Hearing Handicapped/ TSI a1 faehaiiv TR

Correct Answer :-

. National Institute for the Visually Handicapped/ 1§13 ¥ eied faeerit TR

45) Which among the following is used as an efficient mobility aid for the
visually impaired?/ 9 ¥ 9 {53 yauaiiia aafed gq T guTdt Soa Jgrd® & S0 d
Sy faar wrar 82

1. Hoover Cane/ §ax &+
2. Snellen Chart/ o e

3. Dogs/ ﬁ

4. None of the above/ SRIgd & dv\l'-:fTefT

Correct Answer :-



« Hoover Cane/ ETR%



